PART?2
CAM SWITCH

2 AQI%]




H olx
4 ALK
Olx| X S|
A AKX DAY
20| ¥ 3|2MY
XX|che 0 3 E
= DC 20A ARC A3 EF]
1 2 3
e @8] o EIXHIE T
bo— | cmm— 06— 2 (%) AN T)
30 o4 ] A28 1,2, 5 62 ACEME(LEER)
] ety 2968 3, 4,7, 82 BICHYE (TBHES)

10— eum— 0
/

e

@

—_—

|2 ( BARE )=(ON) JH2 ( B )=(OFF) HAEH 2 (EIERRE )=(ON) =S ES DC 20A ARC
AT EY
*ol3 A5 EIRIS S0l Mt HE XMEA| 29| HiZL|ct

e HEY B2

4
O 8
6
O 4
0O 2
HEHA| (L]ie% ) T (548 ) e 72t
TR 3R
12 3
70 0 8

m ZEhA| HEfsol2t ?
SX| HBA| =X|Q] Tt T Ato|2] SARIA 7=
"OFF” El= ™ (XS 3, 48 ) 0t B2 "ON” E|l=
HH (SRS 5, 6 ) Zhol| ThEtzl= a7t0] RX|=Zl=
S|ZLct,

0ol ) 5=X| 2 CHo| A SHREHS 3, 4
5, 6 HZtof| MatE|= 2742
AlZtat 3 Tof Mo] T2 “ON”

2= 7x2 AYEls 528

N
-

()

b =X 3 HOlA EXHHS
oflAel 7HE “OFF” ==

o
=

o
2 chof
ct

&= AlZ0| SEEE =
EEA| HEfHol2t gict,

[ R

m TR EEO0|EH?

EX| 3¢ HZ “ON” Ol M £X| 2 HOZ RS2 7

THo| A& HZ“ON” MEiZ2 RX|=/H %X 1 Bt XS

SHE =X| 2 ¢ Mefol M= T2 “OFF” 7t gLt

) =X| 2 TH(SHE XAYR] ) oM X3 R MBS
I BHAMHS 5 6 HHO| HZ “ON” MEi2 SX|Z/Lt £X|
1 oz MakstH HAtHS 56 HE JHZ “OFF =K
XX 2 He B2 XS5 =0 HAMHS 5, 6 HE TR
‘OFF" AE{iZ SX| Euct.

| e

of




CAM SWITCH A C€ [C

BEFYA FoAr

T HeZ=0H180° £ HE = otRFoll HEEO] U= 2 3|2 HAHS 1, 2 2 3, 4 YFE2 2ol thstod tiE
o2 Hix|Elo] Ao AEHL| 2Tt 180" STEH HEHE HAMHS 1, 20l Al & HEFHES of
HEHXHHS 3, 40ME HEYTECE HAIZEE Ch29| Z0= HETH0| S&0] T2t FHUAL.

1
o o

B0l Z2 45" MEQI B2 30" MEQl B2
3EF 01 AFBE T AThold AISE of 5 Ct 0l AFSE o 7EH Ol AL of
0lZg sz mASH Chet ZaLint
1 2 3 1 2 3 4
30 4 30 4
1 O 2 1 O 2
90" HaQl B 60° ROl B
1 2 3 4 5 12 3 4 5 6 7
30 4 30 4
1 O 2 1 O 2
45" Ol B 307 MRl B
HER M

Vv
K0|No,\< 035

A I

~20%|

ZH
2
B Ao

Mol ZE|
£91%]

C

p Hlofg

£9/%|

E 2|0 E
~9/|

VEE
£9/|

sl

J B3}




FH A 0| y |
a —T I
25o0lo| EX EXQIX|
ezt
24t QIR B = = — = = Hl 1
2 1 2
pien +5 =27
= Manual return
45 =3 X K A
Manual return \
s 241 R) AR L7t EYo= xtE BE
Auto return Handle is auto—return to center.
&Fo| g ol EFoI7t UYL= Xts EHE
x=s 22 (CL) Handle is auto—return to center.
Auto return: 2E0IE =2 U= UIEA| A= TN S2{0FE.
3 &t Pull to switch When you switch handle, make sure pull handle
> FE0N ZYCR XIS 2E.
Auto—return from left to center.
20N BZYSE 5 =27E.
=527 (C) Manual—return from right to center.
Mixed type R SE0|M YR XS 27 .
Manual—return from right to center.
=M BYCR 5 EHE.
Auto—return from left to center.
+5 =27 s ey P
Manual return b A
, 4o M 3oz x5 27F.
2T Auto—return from 4 stages to 3 stages
= 1 EolM 3EHeE 5 SHE.
Sgt 29 (C) Manual-return from 1 stages to 3 stages
Mixed type , 1 HollM 2 B2 Xts 27E .
< ’o Auto—return from 1 stages to 2 stages
2 HolA 4 o2 25 2.
Manual—return from 2 stages to 4 stages
o= +5 =27 ; s D
= Manual return ] s
6;} —/r\-%%:ﬂ ‘23 R 13 56
Manual return \
-5 +5 =27 L,
Manual return __
o= +5 27 P
= Manual return
9ot +5 27 ey
Manual return o
10t +5 =1
Manual return | o
AE H LA
11 El_,}. TOo —-'_f,'l ;| g
Manual return B Ao
x X% QIRls F2 Y SISOl w2t B 2 4 UsLCH
036 S TINFA3IAL




CAM SWITCH [€ ~28

M|O|=E]

-
AT
og
o1z}
m
04
H
fol
-4
A
=
1)
ro
ol

C

£91%]

i o Hojg
=Y KH-301 O -0000 A9/

2loje
293

E

ofo|a 2
KH-301A-2 | 3@3W 2CT ~0%|

sl

KH-301A-3 | 3@4W 3CT H EHRICH

KH-301A-33| 3@3W 3CT e

i)
o
ir
Y]
>
[0}

3

=}

KH-301C—1 CS IP 40 HHE - ABS

=
=

ol
e
=

KH-301V—2 | 3@3wW 2PT

KH-301V-3 | 3@4W 3PT

KH-301V—-33| 3@3W 3PT

KH-301CL-1 C.S

Vv
Komo,\( 037




2 AQ%|

KH-302 Al2|=

AT

o
0%

m
2

I
Mo
o

KH-302 O —OO0OO

KH-302A-2

3@3W 2CT

KH-302A-3

3@ 4w 3CT

KH—-302A-33

3@3W 3CT

KH-302C—1

CS

KH-302V-2

3@3W 2PT

KH-302V-3

3@ 4w 3PT

KH-302V—-33

3@3wW 3PT

KH-302CL—1

C.S

IP 40

2
ol




CAM SWITCH

C“@)US E

KH-302 Al2|=
T =2 g3 Ex o1x
2 FRurAl
KH-302R
@30
ERSE e
FEY | KH-302K | 7| Z=HtAl
@30 otzp)s | SUME
KEY LOCKER
KH—-302KL ]
KCR-303 Al2|=
T ®8 =3 o5
F=d KCR-303 - OO OO
KCR-303A—2 | 3@3W 2CT
ueavo | [€
KCR-303A-3 | 3@4W 3CT . S,
FPC semE
7128
KCR-303A—33 | 3@3W 3CT
KCR—-303V—2 | 3@3W 2PT

Y/
KOINOl\< 039

t9)
A xin

g 2
~9/%]

Mojzg|
C Xeolx

p o8

AQI]

2joje
AQIX]

E

F ofo|a 2
AQIX]

J 257}




2 AQ|%

KCR Al2|=
22| ¥y =5y | msux A ol
KCR-303V—3 | 3@4W 3PT
HEE U0 | G
7|28 P40 | DI : ABS A\ W%
THERZIE : PC SUNIZ
KCR-303V—33| 3@3W 3PT
=
KSC Al2|=
S 3y EESES A oI5
HEE : UL94-\VO
== KSC—22 O —-O000 IP 65 THT : ABS [E
Helxzm pe | SoE




CAM SWITCH AN CER 7
KSGLKGKCARIE

& o HSIX XHE! R Mlo|=E|
C 290%
KSG—22 D o
~9I%]
KSG—25
KSG—30 £ 20
~AQI%]
A EES
AQI%]
KSG—22K
KSG—25K G2
KSG—30K ~
H EtxEC
KSG—22KM I QEE%
KSG—25KM P65 o
KSG—30KM
RS UL94-VO, [€ e
XEIH : PAGS B\
HOiZZE : PC Ce
KSG—22KN SUHE
KSG—25KN
KSG—25N
KG—4 P65

v
K0|No,\( 041




A 22X

KSG, KG, KC Al2|=

5o EESES e 2o
KG—6
P65
KG-A
KG—4CL

[€

EEE 1 UL94-V0 s
KG—6CL IP40 ZEIE : PAGS C€
SUME
KG—ACL
KG—24DT
IP65
KG—24DTCL




CAM SWITCH s CEE 0

KSG, KG, KC Al2|=

o HSIAX Py | = c Mol ZE|
ENEY
pAoi8
KC—30A—6SCL 251A
KC—20D—6SCL
E 2|0 E
PN=IY
F OfojaE
A2[X]
KC—30A—24DTCL e
KC—20D—24DTCL 291K
H SHRtch
Zes
s
KC—30A-A
KC—20D-A
e
P40 HES  UL94-V0 [€
(UREIQ) 1 | ZEIE : PAGE B\ T
IP65) FMHR24T : PC / Y20} Ce€
KC—30A—ACL SN
KC—20D—ACL
KC—30A—6
KC—20D—6
KC—30AKL
KC—20DKL

Vv
Komo,\( 043




EX|
—_/ O
B¢ X7 |S200IS
H AS, VS(3@3W, 3@4W), CS YL 7|=MAE QlL|Ct
B Z20| ol5t0] LISt 3|22 MRS & QUALICH
(24 AQIx| &AM &x)
SHYA|HY
KH-301[ ]-3210 (R)
A= s e
NS KH  |koINOY ZIEX7| FAEIAL
ZHAQ|X|H 301 250VAC, 7.5A & (Max.)
C-1  |&F0| A=A
HASIZ| B2 | CL-1 |2FE0| 2 XS24
EHA| |[FRONT PANEL &
2~9 THKIQ| SEX| T4 Kb
S X| T 2~12 |92 XIlSH= 2 Xt2| BHYJo| EX|Eta
o] XK= () Qtoll 7|UEt.
S 1~10 |1710 S7EXIQ) o ELEMENT Xt
=T CHi0¢e 022 HI|E,
s T 2 G4t SUsE HETNO| 5
QIR S 01~99 |B7} L2882 &HE2 MM 01~99 7}
=Ee= Xlo| UBHEE 2XI2 HAIGIHS .
SHA| |AZZ 2|ES0| Ofl 2 |
CEEN
R |Arz oy
HzyHer U mMe
e x=E5)
KEHRBEA| SQEEFA| MEHESIA| QELEIA|
ot ot
= = = 82 = g2 = g2
125VAC 10A 1250VA BA 750VA 24VDC 10A 240W 7A 168W
250VAC 7.5A 1875VA 3.5A 875VA 110VDC 2A 220W 1.3A 143W
440VAC 2.5A 1100VA 0.8A 352VA | 250VDC 1A 250W 0.45A 112W




CAM SWITCH

[@ g i?m

FH
45 %
oA 100MQ 04 (DC500V HHXIEHH ) HO|ZE|
Ly & QF 1500VAC (50/60 Hz ) Ol M 1 27¢ € 29x|
= K gt 50mQ 0|5t (=7Ix|)
= - . p Hoig
L = s 10~55 Hz , X2 1 5m 35 (X, Y, 2) 28k 2 1 A2t 29[%|
WE= oF 30G(300 % )
Z|0|E
ANgxges —25 ~ + 507 (20| E|X| 242 AfEHOIA]) E xoix
JNE=ESCIF Y 45 ~ 85%RH
_ _ aro
e 203l /2 of3t Pl
7| 20 0t3| OfAt
_)|\_ Eg — < =gy
7|HH 50 23| 0] 4 G Xex
BHs X IP 40
HEE = Phenol H EFxtC
A 7 ABS
R xZHIh 2205 [ =52
HFA
F=0l= KC : KC 610581 -
T ) ESFHH}
AEXITE
KH-301 FHEEMLUA M4

M3.5x7 Terminal Screw
1-94.5

=3

48

m R o0 ThE L 20| Al [=(nx12)+28, n 2 ZEE

KH-301C—1,
301CL—1

6.3

(L) <PANEL %[ 57H74>

rir

A
Rl

M3.5x7 Terminal Screw
F S AL M4

4-94.5

60

60

100.5

48

%@
&
£
il

48

<PANEL #=7+7{>

6.3 41

115.3

Vv
Komo,\( 045




[€

303W 2CT

J
<
C.T >
< <1
?
KH-301A-3 364W 3CT
[E R S T
X 4
KH-301A=33 393W 3CT
[E R S 1
crEE =
<\| <1 <1
TIE
KH—[3E01C—1 s
20 o4
10 03




CAM SWITCH (e

TEMAE B 5|2

KH-301V—2 ¢ Mol=e|
@ 3¢3W 2PT 291K
R S T
pT o Aloig
OFF R-S ALQ|K|
6
S —T
—° e
ENCN
q
ara}
G Zaix
KH-301V-3 304W 3PT
€ RS T N oo H SERECH
5 {LO OFF
) 2EZ
I t1|FA
15 é{
) BB
‘5 g
KH-301V-33 393W 3PT

[E R S T

P.T

£33
133

KH-301CL—1 C.S

OFF <—> 0 <—> ON

20 O 4

10 ‘ O3

B 2T0|ZZA2 &H0IE A2 7N S2{0F FLCt.

Vv
Komo,\( 047




= =

A 22X

KH-302 Al2|=

x|
=

Jm

B (X7 IEEATRIE
B AS, VS(3@3W, 3@4W), CS 2 7|2dAZ ALt
m F20f o5te CtYst Sl22 MIZE 2 JUSLICE,

=5 7l |HHE
SIAMH KH KOINOX( HEF7| ZAIS|IAL
ZHA2|X|H 302 |250VAC, 10A & (Max.)
R g FE wA D @330
K |2 Fi5 KEY =2 %A 0 330
AR KL |KEY LOCKER &4
o C—1  |&T0| XSS5 1A
CL—1 |&To| ZE XIs=HEA
B2 XAl |[FRONT PANEL &
2~9 7JHX|Q] K| s XY .
EX[CH 2~12 |9 thg x1lst= 2 At Tl
EXR|T0| 2Xb= () ol 7S
oA {10 |1710 S7EXIS| A ELEMENT A .
=T CH10¥M2 002 HI|E,
tt 2 ATt SUeE HETA 9
s 01~99 Z2JIClE2E2 &2HE MM
UZHS 01~99 77IX|2| UHHS E X2
BAISIRS
SgAl |AmE 2|ESH0| Ofl Z4
(R |Azmy eley




MM A M
mi=t e Z|=2H5t
KL FEEGHA| KEHEHSIA| [=1==F 0N
ek et
-° e ER e R . xz2 e x2 e
125VAC | 20A | 2500VA | 10A | 1250VA | 24VDC 20A 480W 15A 360W
250VAC | 10A | 2500VA BA 1500VA | 110VDC 5A 550W 3A 330W
440VAC | 25A | 1100VA 2A 880VA | 250VDC 1A 250W 0.5A 125W
o5 W e
HAKXNE 100MQ O|AH(DC500V HHAXE|)
LA et 1500VAC (50/60 Hz ) Ol M 1 27+
FSIES R 50mQ O[5t (X7|x])
WHzs 10~55 Hz , BXIZ 1 5m 3= (X, Y, 2) & 2t 1 Azt
Ws= ok 30G(300 % )
AEF2E —25 ~ + 50°C (Zo| =[X| 2 AEHOIN )
ABFAEE 45 ~ 85%RH
JH o Bl = 20 3|/ £ ol5t
7|~ ots| oAb
~of M7~ 20 2t3| of4
7|AI= 50 25| OfAt
HSAX IP 40
L =A| PC
X = AT ABS
M Zzimt 2R0ls
==o|= KC : KC 610581
X+
2—06
KH—-302
L = g
e R
Rl O
ﬁ p12 /D
25 |6l6 (L) |
M4x8.5 Terminal Secrew
B ZEE|S ool M2 Lo 20| A L=(nx13)+30, n 2 EE = A
2—06
KH-302C—1, A=
302CL—1 >

60

70.5

6
62

Y
=S
=

67.5

M4x8.5 Terminal Screw -

812 /

SO0
30

Vv
Komo,\( 049

A

)
A 29ix

g 2
£9/|

Mol =z|
£91%]

C

p Hlofg

£91%]

2loje
293

VEE
£9/|

sl

J B3}




FH A °| A |
o =T K
KH-302 Al2|=
= KH-302R
o
m (M7 |8EOTIS
m 2 RS QlLCt (KH-302R, 302K)
B 20| IH (&HF)AE U=
KEY LOCKER & @JL|Ct (KH-302KL)
m F20f ol5te Cist sl=2= MXIE
QUELICH, (W AQIX| oMY &x)
KH-302K * KH—-302KL
Hzizier U Mg
mi=es 2|2 H5}
S SIA FEESIA S SIA FEESIA
et Hef
=R 2 MR a2 = 2 =R 2
125VAC 20A 2500VA 10A 1250VA | 24VDC 20A 480W 15A 360W
250VAC 10A 2500VA 6A 1500VA | 110VDC 5A 550W 3A 330W
440VAC | 2.5A | 1100VA 2A 880VA | 250VDC 1A 250W 0.5A 125W
A5 U
HAXNE 100MQ 0] (DC500V HEHXEHA| )
L & ef 1500VAC (50/60 Hz ) OflA 1 £2¢
M= X o 50mQ ofst (=7|x|)
== 10~55 Hz , 2XIZ 15m 3= (X, Y, Z2) &aF 2H 1 A2t
== ©F 30G(300 %% )
ANEFRE —25 ~ + 50°C ( Z20| E|X| 242 AEHOIIA)
JNI=ECIE ] 45 ~ 85%RH
o Bl = 20 3|/ & olst
7 ~
o 7| = 20 2t3| oA
7| A= 50 2t3] of4¢
HE33 X IP 40
HEE =A| PC
DN S| A1 EHAE ABS(302KL 2 CO|7HAE!)
TH R4 L20|E
zsol= KC : KC 610581
050 ASHIIFAAL




CAM SWITCH €

ATRISE
KH—-302R
P il BY #30 »H - 4
| £ I
_ ] ‘
- 56 ] (I; . %ﬁ

M4x8.5 Terminal Screw

m REE= 0] WE L 2| Zo| AMA! L=(nx13)+30, n 2 === A

KH-302K

Yp o N
—
|

WL ﬁ

——
——
5]

M4x8.5 Terminal Screw

u
P
i}
m
rr

A0l w2 L o] Zo| AL L=(nx131+30, n 2 XEEl= S

KH-302KL

G 3) 1 — g
AN o TS -
{ X2 o = s
\ J I 48
;;‘ 44 20 (L)

1
* M4x8.5 Terminal Screw

m X

= g0l 2 L 9 Zo| AL L=(nx131+30, n 2 ZEEl= S

Vv
Komo,\( 051

)
A 29ix

g 2
£9/|

Mol =z|
£91%]

C

p Hlofg

£91%]

2loje
293

E

opo|2=2

2913

sl

J B3}




KH-302A-2
323W 2CT
E R s T
C.T
KH-302A-3 SPaw sCT
E R S T
—e
KH—302A— 323W 3CT
% 33 R S T @
KH-302C—1 C.S
OFF=——— 0 — = ON
20 04
10 O3




CAM SWITCH (e

= FH
7I2EME Y 32T BE,
2QI%|

KH-302Vv—-2 C AA1|2|£E|
323W 2PT 29K

p Hlofg

£91%]

2loje
293

m

I EE

sl

KH-302v—3 324W 3PT
[E R S T N PT H SERFCH

Bl

I
E2d

KH-302V-33 303W 3PT

[@ R S T p.T OFF R-S S-T T-R @
: ’ 5 *—O—«

ER

KH-302CL—1
C.S

OFF <=—> (0 =—> ON

20 O 4

10 ‘ 03

B EF0|ZAR 2H0|1E 222 F7M S20F FLICt.

Vv
Komo,\( 053




2 AQ%|

KCR-303 Al2|=

EX|

=/ o

B M7 |EEQMRIS

B UL/CUL &9! HZ4 RESISTIVE 600VAC, 25A

m A\ For use on a flat surface of a type 1 enclosure”
m HYEE2 '.—_fcﬂ —;‘ U|_94—vo EIPNE=

|22 mMizret 4 AFLITH.

l'0|

KCR-303-4603F—-PL

=5 7=

LHE

HALX|H | KCR-303

ROTARY CAM SWITCH

2~9 MHX|2| =X B =AY .
9 EtS Zuksh= 2 Xj2| THele)

Sy [ = =S ~
AL | 2~12 o qieao) ke () otof

Jlelat.

~10 97 ~xtol
ot 110 |1710 SERIC] He ELEMENT RATY .

£ 1092 002 BIE .

ChA 2 A7} EQUFE MEAAMO| =
2 2HE "ol 01~99 77|'
X2 BHAIBIUZ .

MANUAL OPERATION

x-lx-l_—rLA-I
=a o ~
oz | 0199
R
H
ATHOIEN
P
F
2HAl
E=s]
PL

PULL TO LOCK




C“US |E

o
w25t 225t
KRS FEEGHA| TSRS SEHESIA|
by e
N 2 2 =11 2 2 = 2
125VAC 20A 2500VA 10A 1250VA | 24VDC 20A 480W 15A 360W
250VAC 10A 2500VA 6A 1500VA | 110VDC 5A 550W 3A 330W
440VAC | 25A | 1100VA 2A 880VA | 250VDC 1A 250W 0.5A 125W
M5 Y
X o X &t 100MQ O[AH(DC500V HHXEHA )
L & ef 1500VAC (50/60 Hz ) OflA 1 £2¢
FSIESCI-T; 50mQ Olst (=7|X|)
Was 10~55 Hz , EXIZ 1.5m 3= (X, Y, 2) 2reF 2H 1 A2t
W= oF 30G(300 7 )
ANEFR2E =25 ~ + 50 (ZYOo| =X| 22 HEHOIA )
ANEFAEE 45 ~ 85%RH
o Bl = 208 /& olst
7| 20 2t5| oA
=3
7|A= 50 2t5| O|A¢
HE33 X IP 40
TEE =A UL94-VO0
X = AR ABS
M =z PC
z=0l1x KC : KC 61058—1
TTee UL/CUL : UL508 , CAN/CSA C22.2 , NO. 14—95
RAR|TE
KCR_303 FSLIAE M4
_ M4x8 Terminal Screw 4-04.5
I ff 6
//Z gg ﬁ ‘ $10 |
£ 3 SRt N 5 36{
B

Yy
KOINOK

\

™
7

4

ey

o |

A s 1
o ——

| Hl oL,

| \
20.5 ! L=Nx13 6.4

'S
=

Ay}
()]

B

el
S
0H

6 <HES &>

HAFAL L=(n x13)+32.9 (n2 =2!(#1L)

0
rr
R
+
&
&

Vv
K0|No,\< 055

i3
A n2lx|

g 2
£9/|

Mol =z|
£91%]

C

p Hlofg

£91%]

2loje
293

E

F opo|2=2

2913

(@)
>
O rEl

22X

J B3}




KCR—-303A-2
(KCR—303—4246) 303W 2CT
s [€ RS T OFFR S T @
5
e
cTF|E
Ut
1
KCR—-303A-3
(KCR—-303-4321) 304W 3CT
AN € RSTN OFR S T @
c us i
C.T.
KCR—303A—-33 3¢3W 3CT
(KCR-303-4321) o o
S, [ | 0
cTE %
TER




CAM SWITCH A € 2

5 2
|RAAE O 52

— - Hlo|=E|
&:1}%;42247) 323W 2PT C xox|

C“ us K

P.T. OFF R-S §-T T-R D ﬁlgﬁ
2|0 E
E xeix
WIVEE]
’ F asix
w
G Zaix
KCR-303V—-3
)
(KCR-303-4248) 324W 3PT
° RSTN H EEXICH
c“us [E P.T. OFF R—=N S—=N T-N
.,égLGO .  zc2
HiA
oo ;
.F.}{ﬁ 3 ) =B
KCR-303Vv—-33 303W 3PT O
V

(KCR-303-4249) RST . OFF ReS ST T-R

c“us [E j{ il 4OJ =

BT
JES

eS

ENEEN)

w

v/
Komo,\( 057




KSC Al2|=

® g g % L L S
—~ | 0 0 00 ~ < |ol 00
wR R K ~ 2w o g g | & (RLE
By &l N e - ol 1=
Hml w 0 Mg s¥lgle & | g MXZ
o) W | @ AN e ] | 2 xur_.oo_“n
5|3 m E P N R T R T N
o= T Ry T u o |SK T80 | 70
o= I Cel Ol | B 0K | 0 | 70 | 70 70
0| —| K ROTH I @ | | ST R <k [l EIK Gy i 22 ke
LRMJ 70 | w0 | o | Ho | —| &l e e K w (W<t 5 o5 T TR
%o B @0 ® b ok ok | o) | R R |28 | O | g | o R
D e B il o PR A 5 I = I~ S e [
RO\ o | RE KRR g RT) Guoo|mo |y |®| K| X (BNl
® &S 5|5 E e (W GR g Y e T
ot H I H | H Q28 ™ ol | o H| o A_vu_./nm
REEENIEA SIS I b BN 4o T MR
Bl Q8 8 o = ST KR
O =< =< =< ~ 0 3
H12lolne|8< o <|ix/M z |sHe ¥ |7 T |weroza
N X I3 —
0 _ _ ol . _ ~| T
%0 e T T | T BT |44 o ow =
Mo . nE % 0 0 u_.@_wgo ok W0 | T T | <k gy TE & 60
) Py g W< iy B W T i
T S I M = wF o | BHE RO |l 5p| RIol A
KF ﬁEﬂ@uMM AI_“_M”_ w K. o K
S oMo mo®
ot rmAw <
s oy o < R
W oo Ky XK It
gl pok o]
_._.I all =.___”_ = ~il0 > — |
O_ u] M».\OLA_._._.I\/ Al
B atrrgly o |
m EE SW S ™K |
M ol TR Mo g0 _
KO g gy I WUy 90 O
TR o S R _
B prlnizw O
gy R RERD ol on o g o Q|
door Taer I T @A N
ke rps < @
TR WOKTORM B0 O RO OH =g |RT C_
GKBEKMKHERRIKEDS 8 0
EE EEEEEHN 0 X |




i) ESE) )
- WSEESIN| REESHA| - PSRN FREESHA
= 22 N g2 M g% N &
125VAC 15A | 2500VA | 10A | 1250VA | 24VDC 20A 480W 15A 360W
250VAC 10A | 2500VA B6A 1500VA | 110VDC 5A 550W 3A 330w
440VAC | 25A | 1100VA 2A 880VA | 250VDC 1A 250W 0.5A 125W
s U
HANE 100MQ 0|4 (DC500V HHIXEHA )
Uif o) 1,500VAC (50/60 Hz ) OflA 1 27¢
HMEXNE 50mQ olat (E7|x|)
L 2l 5 10~55 Hz , BXIZ 15m 3= (X, Y, 2) &8 2t 1 A2t
s ok 30G(300 %)
ABFRRE =25 ~ + 50°C (20| TX| LS HEHOIN )
ABFEE 45 ~ 85%RH
0 o Bl = 20 3|/ & olst
El[esd 20 2t3] of 4t
*= g
7| A= 50 03| oA
HS3Tx IP 65
g =Al S E UL94-V0
A Sl ABS
MM Fxzbm PC
FHEB KC : KC 610581

Vv
Komo,\( 059

1<)
A 2six

g 2
£9/|

Ajo|ze|
BN

C

p Hlofg

£9/%|

2|0
293

E

VEE
2913

sl

J B3}




s |
QxS KSC SEREES (218 2 291|)
4-94.5 36
M3.5x7 Terminal Screw
T 4 022.5%8,

$27.1

/[
=

NIE

2 1002 o

%ﬁw e
%:JJ

! D
Jg [

ﬁ%

Panel Cutting Size

18
19 |7 45.8 L
m ZEls o0 W2 L o] 20| A4 L =6.5+n X 105), n 2 ZEEk=s o4
KSC—25(H&)
4-94.5 36

M3.5x7 Terminal Screw

| b $25.5%s
IRET=T=10) &
1 < - Tl s /> q s :
) - ==l \&/ NPE
KOIND,\( :q _/W =
18 § Panel Cutting Size
19 |7] 45.8 L

| |
o
i
n
mr

A0 2 L o] Zo| AlMA L =6.5+Hn X 10.5), n 2 Z&El= A

KSC—30(H &)

4-94.5 36

M3.5x7 Terminal Screw

@30.5'5
=TS )
| = - il 8 8 !
, - ) 5/ NIE
KoINOK - _\V/ 13.57*
048 18 § Panel Cutting Size
19 |7 5.8 L

[ ]
P
i
mn
i
i
e
I

A0 W2 L o] Zo| AlMA L =6.5+Hn X 10.5), n 2 =& &

M3.5x7 Terminal Screw

O 18 925.5%8
g |
Iy T i *
1 N © /]
W T €8 o
ot g 9 D @ 114
© Panel Cutting Size
#27.1 B B
36 18.8 |9.2 43.3 L
m ZEEl= A0l M2 L o] Z0o| AMA L =6.5+n X 10.5), n 2 ZE=l= ¢




CAM SWITCH

QIEXISE KSC SERES (7| EI! 22|38 7 AX])
KSC—22K

M3.5x7 Terminal Serew

=T

T |
i

2 i 2
W -
) =]
KOINOK
48 4.6
26.7 |7 42.3 L
m EYElE A0 TE L 2| 20| AMA L =6.5+(n X 10.5), n 2 ZY == S
ﬁ 2
KSC—-25K
M3.5x7 Terminal Screw
A P
ﬂx‘\ 2 = n m —l_‘ g
W A
« S D
KoINOK
48 4.6
6.7 |7 42.3 L
B ZYElE A0 T2 L 2| 20| AMA L =6.5+(n X 10.5), n 2 ZYE= S
wg ﬁ
KSC—-30K
M3.5x7 Terminal Screw
=T
O 1 B
KOINO'\(
48 4.6
26.7 7 42.3 L

m Rl A0 THE L 2| 20| AlMA L =6.5+(n X 10.5), n 2 Z&

rr
re
s

=3

Jal

4-94.5 36
~N
I o
& /A
S
822.584
|
Nk
10 202 o
Panel Cutting Size
4-94.5 36
~
71N ©
&/
(SN
Y
$25.5585

N

48,

02
-0

1

jy
=

Panel Cutting Size

4-904.5 36
\
72
N ©
N7
&
LY
930.5%s

13.5%* .

Panel Cutting Size

* 70| AR : 7| HAQIK A5 BRI 7| W XIS M B PP F2H 2olsl FAIZ| BRILIC

Vv
Komo,\( 061

)
A 29ix

g 2
£9/|

Mol =z|
£91%]

C

rlofg
£9/%|

2loje
293

E

F Oojaz
2913

J B3}




A 22X

QEXISE KSC SERIES (E213 2 AQIX|)

KSC—22KM (H|EHd &)

M3.5x7 Terminal Screw

72Et ‘ T=T=10)

ik
L I D

36

038
C1J

26.65 7 42.3 L
B ZEE= A0 M2 Lol 20| AlMA L =6.5+Hn X 10.5), n 2 Z2El= A
n_ o
1A

il
]

M3.5x7 Terminal Screw

7§§E ‘ T=TaT0)

fig
i =D

36

38
1]

26.65 7 42.3 L
B ZEE= Ao M2 L o] Zo| AlMA L =6.5Hn X 10.5), n 2 Z&El= A
m v
o<

M3.5x7 Terminal Screw

+ %E =Tl

T e

KSC—30KM ( H|TH! &)

36

938
]

$22.5%8a

ik

N

1002

2.878%

Panel Cutting Size

A
Y

Fain\
N>

025.5%,

=l
NE

1182

4%

Panel Cutting Size

26.65 7 42.3 L
030.5% 5
m == Aol w2 Lo Zo| AlMA L =6.5+(n X 10.5), n 2 T8 El= A
B e

} 13.54°

443 H‘*

L

*
B
10
>
o]
ﬁ
0¥

>
{0
D
>
ot
m
jcd
ro
Al
o
0
Rl
[
nx
0
o
o]
40
P
Ho
2
Ho

Olsl ZEAI7| HEZLICH.

Panel Cutting Size




)

[€ A 29ix]

g 2
£9/|

QASXSE KSC SERIES (7| Et 22|13 2 ARIX])
KSC—22KN ( H|Zhd &) Hlo|=E]
M3.5x7 Terminal Screw C AO|%|
=T
239 7”Et i Eﬁ Eﬂ D & Hoj=2
N . . | A
- us 1]
T D &) e
2R|X]|
4.55
26.65 6.5 42.3 L F nglii
=T
m ZEEjE H4of 2 L o] 20| AMA L =6.5+n X 10.5), n 2 ZEEl= g4
11 7 822.53, G oH
- { J AR|K]
|
ﬂ%ﬁ o =
JEL } \/ 2 H Sty
L 1002 o
\ Panel Cutting Size =
I ET.*ZE
KSC_25KN ( leﬂlé %4 ) M3.5x7 Terminal Screw
) HSFHHE
a3 - T=T=1) &
2 N m —H ‘ ©
1] U ] ‘
=D &
26.65 .5 42.3 L
m ZEE|E H40f 2 L 2| 20| AMA L =6.5+n X 10.5), n 2 ZEEl= g4 925.5"s
1d s
B | 1] |
b ¢ \ ﬁ
wg J 1173
\ Panel Cutting Size
* 7ol AR : 7| AR £5 EFUS I WHE YRIE HF o AR FEX 29J51 FAI7| HIZLICH,
FRE 718 X5 18 o 36 5
o ‘ o
A r_L A & G} A /rJ
ml \ =
= g
i
L/
@ o—
(g 0% WAl (F+gag e (B T A
FRE 78 AlO|=
=
s A B C
KSC—22 @225 2.8%1 10 02
KSC—25 @25.5%, 4%, 11702
KSC—-30 @#30.5%, 4%, 13.5%2
Y/
koINOJ( 063




A 22X

0

QXIS E KC SERIES ( THll Hak5] 7H A2Q|X|)

KC—4, 4R

4-94.5

1
it

[
5
o/

VY
KOINGY

35.3 L

42
46.5 7

0
M3.5x7 Terminal Screw Q} M
— - e;.y
Eer AL R
LL et

Panel Cutting Size

m Rl G50 T2 L 2| Zo| AlXMA L =6.5+(n X 10.5), n 2 =&

rr

A
S

4-M4 Nut

48

I
ol
36

48

47.5 6 48

M3.5x7 Terminal Screw
%,
:
N

Panel Cutting Size

48

—

&
<
7

B ZYEl= A0 TE L 2| 20| AlMA L =6.5+(n X 10.5), n 2 ZY == o




CAM SWITCH

QAR|+=

Ad2=H

KSC—-22 + WZ=7

M3.5x7 Terminal Screw

30
927.1

S
\
18
48 19 |7 45.8 L 9 |
m R &= H4of w2 Lo Zo| AL L =6.5+(n X 10.5), n 2 X El= A4
KSC—25 + U=Z=27 M3.5x7 Terminal Screw
e
l - J o
a ™
Y
i % J
g
SSum| 1
48 19 | L 9 ‘
m P E|= Aol T2 L o] ZO| AlMA L =6.5+(n X 10.5), n 2 ZEEl= g
KSC-30 +%|:E,_§91 M3.5x7 Terminal Screw
W
§g( J
| g X
F=EsTT] 18
048 19 |7 45.8 L 9_|
B ZEE= o M2 Lol Zo| AlMA L =6.5+n X 10.5), n 2 ZElEl= g
KSC—25( H|ZHIE 1+ A2 271
36 .
M3.5x7 Terminal Screw
Ow 18
<
(AN JTEIMET | )
-
T : Q
& = N e
ik \ ]
S
215 \
Ol==J0 4
18.8 |9.2 43.3 L 9 |
B R &= G40l w2 Lo Zo| AL L =6.5+(n X 10.5), n 2 ZEEl= g4

47.5
28

20.75

A
3
i

C

41.5

==
o

L
iLIEEA]

=~
-~
w

47.5

28

20.75

sl
aa

41.5

jﬁ
-
ILTER]

=~
-~
w

47.5

28

20.75

41.5

] SRl
S

IS
-~
ca

47.5

28

20.75

)
i
B

41.5

N
P

~
-~
)

Vv
K0|No,\< 065

i3
A n2lx|

g 2
£9/|

Mol =z|
£91%]

C

p Hlofg

£91%]

2loje
293

m

opo|2=2

2913

sl

J B3}




2 AQ%|

L= (Knob) SEH

32

20.2 23

827.5
)
=)
|
T
#27.5

027.5

S8 e HE e
16.7 42
18 _27.14
18 27.5 g [
2 \ $ = «<
3 N N B
L/ LB
FRE 718 X
" I.L FE= 7f;3— ALO|=
I @ ® _~T=| A B C
N\ . N & ¢ LS
| \ E . KSC—22 | @225 28% | 1002
’ o)
\ . KSC—25 | @255%, 4%, | 11%
B @ @ KSC-30 | ¥30.5%,| 4%, | 135
(B I (@ o gl (e mx wAl
oHA FE 7+
A T S L
742] (mm)
THdl SHEf A B
48X A8EIR] | 68 0l 116 OJA}
B0<B0EIY | 80 OfAt 116 0|t
25N E2 72.5 0|A 116 0| A
KN,KM E}2 66.8 0|A 116 04}
P& - XA 140 OfA 140 0|
* I FREE P Lu AR LY TR0 AAMEl HE A4 LTt
N 0[Q]o| THAS THA F|i2 712{BE ATISIAIZ HIZILICH.
ARBXE M| 817, A U AQIX| Zlolofl et Ax| 24 i &8 © 4 UsLICH




CAM SWITCH [

g 2
AS%]

¢ MojzE|
A91%]

p Hlofg

£91%]

2|0 E
293

=
2|t e ASIK|

28 4-03.2

e~
]
j\
U
L
I

-
j“ﬂﬁ\
0
L
L
e
[

Vv
K0|No,\( 067




HUZ0|E Eal
B A= o2 S0 &~ U EE0IHE S8 2 EHuIN
WK =2 S}

mLEE a|orq
B H|JE20|EE E2lStTt.

ARZSE7 |0 BIEA| FZHEEME &2l = AISsHIAR .

YAS =2lst] HA 0122 AHZS SHA| YA .

221%] 0]2l9] FHo|= AFZSIX| ORYAIL .

™ 252 Yoz 22|st0] HZSIX| ORYAIL |

Hit ZE Al F2I5H HIEALE &S 7ISHA| OHYAIL

LIALS| ZRZ == 8Kg.f.Cm O|SIE SHFEMAIL .

ZASQL HHRES B2 AIZICH L MEEA| AIZE S3f 3|THZ0| LX| EIEE ZESHAIR.

71 FZA FeArRol FrIE WiE2 ME

22|t S0fl= EHEol FASIH HX|7F A= 7™ K| ZAE HES US| ZASHK| OHYAIL .
)




CAM SWITCH

s CE [€

KSG A|2|=
S Al
KSG—22[JJR3210H

2= 7= &
HAQIR|H | KSG 22l A AQIX| (Eo|E ASY)
22 22 mo| F2H
FRUrA 25 25 mo| FF
30 30 mo| FEH
2 HA| e SE A
SEMA
K 7| S& Al (45 =8t 7hks)
FHA| 48x48 Arzt Tl Ete)
HITH 2 7te Bt (B Bt — 25 BF X
MHEEO! 3 =
HHSE N I|EIR) — 22, 250t XY
M e Y EY (7] ErEE Mg
2 HA| +ZEHFE5°)
R U= Kts S (45 °7)
HALIR| C HE XIS 245 °)
SHEH M +E2HYE0°)
6M +8 S ©0°)
oM +55M1A©0°)
=X El;}/\
(éﬁl ) | 212 2~12 THKI2| =X T4 RAHY
A 1~y | 1715 S THXI9] A ELEMENT AHA (R C.CL
(HEEE) Etl2 ZICH 5 H7IX| 7ts)
A Che U G47} EUsHE ™ETAO| ER7} o2
olmps | 01799 | B2 &#3 FallA 01~09 7IX|o| YeiHsS
see= X2 EABIAS .
E EFEE | E-Type JtHE@ @
R =31 | R-Type HE@ @
T o2 | T-Type % @
L o S
s o eig | svee [ 4P
H X Al | H-Type J@ @
P HEY | P-Type m F

Vv
Komo,\( 069

)
A 29ix

g 2
£9/|

Mol =z|
£91%]

C

p Hlofg

£91%]

2loje
293

E

F opo|2=2

2913

G LB

29J%]

J B3}




I —

71 & L &
KG ol XS H AR (HOIE W2H)
4 48x48 Tl FEH
60x60 Tl =3
6S 60x60 Tl FE& (IC|AH|0|E Et)
A 60x83 mdl =
24D 60x80 24VDC I AHx} mhl
SHA| 2 M Az
T 3A Mz
=k N 5 2HH45°)
R U= s 2HH45°)
C HE XIS 245 °)
CL 2F0| ZE xts 2HH 45 °)
3M 25 2HUHB0°)
6M 5 2HUH B0 ")
oM 5 2HUH©0°)
2~12 2~12 7HX|Q] = X| B Xt
1~15 1~15 A 77}X|2| S ELEMENT +xr%!
(RC.CL EtI2 2|t 5 H 7IX| 7hs )
i Ol HAAyE Sl MAETMo| EE2Y| CiEs
01~99| 2 &HZ HallA 01~99 W(I-I °'E4 i% SN
2 HAIGIS
E EF™ | E-Type % @
R 2sE IRTe &)
T aze 1 T-oe Y
s ey s-toe [ @
H & HE | H-Type J@* @
P HEY | P-Type m ﬁ




CAM SWITCH

C“US C€ E

KG, KSG ZH AQ|X|

At

7 = HY (V) 600VAC, 250VDC
2 S8 F= (Ith) 15A
e & 250VAC, 10A ( K& H25tA|)
HMAT|S 100M Q04 (DC500V =AM EA| )
LAY 1,500VAC, 60Hz Ofl A 1 22t
ESEYSEL 50m Q Ol5k( =7IX|)
HZEIS 10~55Hz, 2FIZ 1.5mm 3 & (X, VY, Z) 2&F 2+ 1 Azt
L= LH=LA 30G(300 % ) 0|4}, 2E= 10G(100 % ) O] 4
B2 R 2z —25 ~ 4+70°C
AME T 2= —25 ~ +60°C (Z8I0| TIX|US AFEHOIA )
AIBFREE 45~85%RH
JHmEl= 203/ & olat
oy 7 |= 20 23| (250VAC 10A K&t 25HA| )
7|AH 50 2t3
HSAX IP65
-~ HHEE uL94-V0
AR PAG6 Resin
A Ag Alloy
(=N 2= (Bs) + LZ=S
z POM Resin

5VAC 500mA 0|4, =2 5VDC 100mA 0|4

KC : KC 61058—1 / UL: E.191305 / CE

i3
A n2lx|

g 2
£9/|

Mo|zE|
€ 29x|

rlofg
£9/%|

2loje
293

E

F Oojaz
2913

-

H 7t

wzgst AC 22251 DC
AC—12 AC—-15 DC—12 DC-13
~iof PSEEEN| REESIA| xiot PSEIESEN| FEESIA|
== (cos @ =0.9) (cos @ =0.3) == L/R(T0.95)=1ms | L/R(T0.95)=300ms
2 =2 2 =2 HF =2 e =
125V 15A 1875VA 7.5A 1250VA 24V 10A 240W B6A 120W
250V 10A 2500VA 3A 1875VA 110V 2A 220W 1A 165W
440V 2.5A 1100VA 2A 880VA 250V 0.8A 250W 0.55A 138W

Vv
K0|No,\< 071




A 22X

KG/KC—24D Lamp

N
R Z4FIOF DC24V £ 10%
AH|T= 1w olst
Lamp X& 20mA 0|5}
Lamp AMa =¥
coM Y | G R COM G R
Lamp &= -) (+) (+) (+) =) (+) (+)
(+)
344 T Ef 2 M U ety
o BIXER 242 F20| WE (7|2 (-)Common)
o(+ )Common 2 FEARE
sLamp & THX} HiMA| LED AMAbof =o|& A
Ao x{5t 100M Q O[AH (DC500V HHAXEHA )
LHEQY 2,000VAC, 60Hz OflA 1 £7F 2,000VAC(60HzZ) for 1 minute
PNE=ESeTIY —20°C ~+60°C (ZYEX| b= =A)
A 45~85%
| x mz4mi2t DC2av + 10% (CLASS 2 inpu) |
EIZX|sE 2 S|I2E
ElZx|aE R
KG/KC-24D Lamp
M
445 -
20 2 #HO @—'}'—\/\N\/—
%\
. RED
gi’.@ N
&\ Q—— +H O @—'}'—\/\N\/—
. GREEN
{0 \Q
\ «l 8 M
YELLOW
o & 3
¢ EYe @—|>|—wv\—
Panel Cutting Size



김재일
사각형



CAM SWITCH

C“US C€ E

LAIx|+=
KSG-228 (HE)

KSG SERIES (£2|& 2 A2|x|)

M3.5x7 Terminal Screw 4-94.3
T | 5 By T ® =
71N i mm
@ 2 5 E | E H e
] 6
KoINOK J S ;%— RS <> Y,
48 18 A 36
19 7 45.8 L
m Rl A40f M2 L 20| AXA [ =52+(nx12.1), n 2 ZEEl= S
922.5%5
T | 7
—] [A . \ g
10202
N O —
J o oy Panel Cutting Size
KSG-25&8 (HY)
M3.5x7 Terminal Screw 4-94.3

AL
i

KSG-30&¥ HY)

| ) b
B B
- il « M .
g in s U ure
4 ) 0=
= =2 '
112 7‘ E 45.8 L .

M3.5x7 Terminal Screw 4-94.3
) 3 h—r b
S
2 il 49 M 1 Nl
¢ LN N
o 2 75 =22
18 § 36
19 7 45.8 L

$30.5%85

wE

=
4l

13.5%8*

Panel Cutting Size

Vv
Komo,\( 073

e
A aolx

g 2
AQI%]

Mol =z|
£91%]

C

p Hlofg

S

2|0 E
293

E

F OfojaE

2913

G LB

ESSIPN

H Ebiy

J B3}




2 AQ%|

QSx|GE KSG SEREES ( 7|Et 22|18 HALIX])
KSG—22K
M3.5%7 Terminal Screw 4-04.3
r — D
ﬁﬁu =0=1
N2 U -] 10 LU
. B B | 4 ® =
Komo,\( J
48 4.6 36
26.7 |7 42.3 L
m ZZEl= A0 W2 L 9] Z0| AAA] [=52+(nx12.1), n 2 ZEEl= ¢4
222.5'%,
|
W [ |
g \/ b
éﬁ 1020z o
% H Panel Cutting Size

KSG—25K
M3.5%7 Terminal Screw 4-p4.3
r A )
| ﬁﬁg@ =0
s 5 (0 |l o= 1M il
&7 7 ITA P R
) L = D y @)= -
KOINOY . J
48 4.6 36
267 |7 42.3 L
m X = Apof M2 L of 20| AAA 1=52+Hnx12.1), n & T8 Ele= A
025.5%,
|
|
111
[

Panel Cutting Size

KSG—-30K
M3.5%7 Terminal Screw 4-04.3
r I D\
Ml FEE
2 2 (M 7. sg {H [
N\ Y U sl N .-
) Y% I O=I
KOINOK — Y,
48 4.6 36
26.7 7 42.3 L
m ZZ = 40l M2 L 9| Zo| AlAA 1=52+nx12.1), n 2 ZEEl= ¢
830.54
|
i ‘
13.5%*
Panel Cutting Size
* 7ROl AFE 1 7| HARR| £F EIU2 7| R IRIE MY & FR FEX 2la FAI7| HiRfLCE,




° It
CAM SWITCH A CER 0
SR|E KSG SERIES ( 7|EtY 2213 #HALIX|)
KSG—22KM( H|zht &) _
. C MO|=E|
M3.5x7 Terminal Screw 4-94.3 ﬁ‘?’lxl
i oy 1 o=
B [ 11 2 otmd S p HloiE
g ] m | 44 [0 N & £9%]
U L b77 NN ULJU
[ %7 d=0= 3 g 2l0IE
a0 220X
26.65 7 42.3 L
® ZYcle S40f T2 L o] 20| AAA L=52Hmx12.1), n & ZREl= o4 F oo™
022.5%5
] ) I}
| 65
= 220K
% 1008 o
ﬁ#‘ T Panel Cutting Size H EEXICH
KSG—25KM( HITH & ) 1 E5%
M3.5x7 Terminal Serew 4-04.3 B
S 'Y
H : g O L ] Bo7H
1 |
U L AT B
" L) || [ I=0=
7
36
26.65 7 42.3 L
m L= A0 TE L9 7EO| HAAL =5 2+(nx12.1), n% R2E= o
825.5'%s
T
%‘ |
11187
Aoy

KSG—30KM( H|EH! &)

M3.5x7 Terminal Screw

Panel Cutting Size

4-94.3

I Ny
e
H I 23 N e

I A% W[

% ; Rl

- 7

36
26.65 7 42.3 L
m =R E[E Hpof T2 Lo 20| AMAl L=52+(nx12.1), n 2 ZZIEl= ¢
$30.550,

45

M

m

\

13.578*

+0
oz

Panel Cutting Size

2 2olsl FA17| HiRLICE.

Vv
Komo,\( 075




2 AQ%|

|
QXIS KSG SERIES (H| EHdid HALIX|)
_ ol 59
KSG—22KN(HIHE &) M8.5x7 Terminal Screw 4-04.3
PP | mm® | |
= il m —l_‘ Q z ﬂ ‘ﬂ o
] i e U U
L) || I=0=]
455 | | 36
26.65 5 42.3 L
m Y= Aol M2 L 9| 20| AbtA 1=52+Hnx12.1), n & T8 El= S
82251,
T
% \ }
10402 3
- ) Panel Cutting Size
KSG—25KN( H|THdl &)
M3.5x7 Terminal Screw 4-94.3
— )y
: <) =0
J 40 jull o9 ML 1NV,
] i i E o [ [E
L) || [1=0=)
36
26.65 Bl 42.3 L

m ZEEl= ool T2 Lo Zo| Al 1=52+(nx12.1), n 2 Z&E= A

825.5%8

U
11492
- Panel Cutting Size

45

.
44,

KSG—25N( H|ZHt! & 4 Huh)

M3.5x7 Terminal Screw

E 18 )
D
Y

-

e

}g 7@1' Il | 5 2
RlNiEaES5,

p27.1 464»
36 188 |9.2 433 L

T
V=l
U Z]

©25.5%

\

‘ 1178%
‘ Panel Cutting Size

¥ 3Ol AR 7| HARIR| £E EIRU2 7| HE! XIS T B H 2T 25 FAI7| HiFLct

ET

45
4.




CAM SWITCH s CEE 20

QEXISE KG SERIES ( EHdl H2ks ZHA QIR )

KG_4, 4R M3.5x7 Terminal Screw 4-04.3 C ﬁ\lg:iEl
=
(/=—\ r 1 —— r C
B el
ﬁzé ﬁi s H|o1&
B D xeix

[148.5

Biin
-
8
46.8
J

L8R

| vy ik
=
KoINGK ) : j; At C E El DlE
n 2903
3
| 35.3 L ofo|2=
42

F
2913
49.3 7
=gy
m RYEE A0 T2 L o Zo| AMA L=5.2Hnx12.1), n 2 ZRE= a4 16 5 G fém
b =T

&

Panel Cutting Size

4
&
T .
— I
I rmn
> [m Rl
My =

J B3}

KG—6, 6R

M3.5x7 Terminal Screw

SN I Y S— I

m
]

= = 2 2

7 | ——

5 8 [)

KOINGK -
48
L 35.3 L
42
47.2 6 48 o
g
m EEES 400 T2 L O] 20| A4 L=52+(nx12.1), n 2 ZHEE 4 <

@
&
T

ﬁ Panel Cutting Size

follM =B 9| XIS & =Rl siFAI7] HiZHLICE,

n

"ol Mg EEY e RRAl 45 EIUS |

r

Vv
Komo,\( 077




H Ol x
H ALK
QRIS KG SERIES (ZHal 22k AQIX|)
KG_4CL (ral‘jl:'l ilx'—-l ’ _T'_gl ?éleé!a) M3.5x7 Terminal Screw 4-94.3
S ] ) S— A
o) ‘ =0
S E: i | 1y
. i mi/EE o s %ULJU
KoINOK || %7 S C) = J
36
47.8 L
42 36 b‘/@ﬁ
493 v $ %
E SRR % ;

= S0l ThE L2| ZO| AlMA L=52+(nx12.1), n 2

Panel Cutting Size

M3.5x7 Terminal Screw

|
~
g3 W s NN
ml/EN) \ }
=
V¥
KoINOK
L 47.8 L
42
2 6
m ZEEE H40] W2 Lo| Zo| AlAA] 1=52+(nx12.1), n 2 =B E= S

HEH 5 2|

=S o o

* ol A

48

48

48

48

Panel Cutting Size

&S B2 2= 1 HolM B2 /IXIE & Q! siFAI7] HiZLIct.




CAM SWITCH

)
A 29ix

C“US C€ K

QIR

KG-ACL (P8 =E)

KG SERIES (

49.3

mhudl

=]
—= T 10

i
J

g 2
£9/|

6 c MOI=E|

42

a3

1)

£91%]

M3.5x7 Terminal Screw

,_t:‘

p Hlofg

%
|

2loje
293

U

o
m REE=

KG-A(PE H)

A0l THE L2 20| AlLtA

1

49.3

48

46.8

'L
=

,_’:,

_ £9/%]
&
w(L% .
N
| i
€

\g
|

opo|2=2

2913

C)

46.3 L

L=5.2+nx12.1), n 2 ZZEl= o

$7,

) B
Panel Cutting Size 274t

42

&
83

M3.5x7 Terminal Screw

D

\_ J
L
60
m REE=

H40f| W L2 ZI0| AlAMA

46.8

 ——]
i
38

L=5.2+(nx12.1), n

48

48

o — A
2 xEElE g

LE FEA 3 EIRJ2 2= 1 HollM 29| IXIE & =2l siFAl7| HiZLct.

Vv
Komo,\( 079




FH

AP

>

QAYx|S= KG SERIES (Ehd
KG—24D (I T2k )
KG—24DT 2 6

[ =]
T o

60

-

D p D)

]

73.5

Lomo:( J

T

==

‘ =9, M3 Terminal Screw
| PR
T © .
| g =
- & []@ 2
§
! ==
= © T €
33.8 L 48

M3.5x7 Terminal Screw

==

~5

m Rk A40f W2 Lo| Zo| AMAL =52+(nx12.1), n

KG—24DCL( 2= Z=2H )
KG—24DTCL

472

60
175 _ 175

AR

N

42

73.5

rio

M3 Terminal Ser

20

,éﬁ%@é&s&lﬁéﬁ@

80.5

I

KOINGK ' ’

45
48

ik o 574
~5 46.3 L 48
m TS 140 T2 LOJ 20| AR L=52+(x12.1), n & Rk o4

KG—24DC (KC—24D) ( ¥|2E 712 x|%~)

44.5
/9\4,5

048
60.5

N
L/
o

60.5

048

e g

Panel Cutting Size (Hole)




CAM SWITCH c s C € [E A i?lx\

== (Knob) SHEY

ES 2 RE H T = M|O|=E|
€ 29x|
20.2 23 20.2 32
X 2
iy iy D jg};’l
[te) 9 ™ ==
8 & & N A - N
LI I s
ESEN|
= === e
16.7 42 29K
18 27.14
18 27.5 o Eha
I = B
N\ =
'“. o =) ©
N ESY 1 < H SEXICH
A~y
BEE
I HFA
— =
SHE (Handle) HEH ) B33
43
(29.9) |14 _
A 57
R3 41
EY s \ 3 E ‘
Jl U :
2 Py Ss
T8 s
43
165 K KC, KGAlIZIZ 2 HgTLs, M8A| 29 2.
_ - KM AFZE O5mm.
=N
RE st [0 W 4 g
\\\w 1 3_/) s
D= %

HE Hold BF

COM Terminal A COM Terminal B Jumper Terminal

Vv
Komo,\( 081




[
TH 32 724
1. P8 H /SHE XEA| THA F|E2 712 (4848, 60<60, 24D, A)
140 04 a’o’a /// N 180 01¢
o o
/ C 1 \
| .
\\ ’
\\\ //
%ﬁ
X B HARZHS P S / Lyt FEks|™ & Aol ZiHo= A R4 YLt
H AQX| T4 I ALK MX| Bt =2 L AQ|R| Zo(ofl what MX| 2+ ChEA| ME 2 4 UBLCt
2EY . RY, T, S, HYAUMS /B, KEIY MEA| T FF 212
B — —
T 3 2H
DD FaNREEY 7421 (mm)
ﬁ\ ) ThaAl SEf A B
‘ | 48X 48 EFR] 68 0|A 116 0|4
\j 60 < 60 EF 80 0|4 116 0|A
— N = A Ef 103 0] 116 0|4
-« 24D(24DT) E}2l | 93.5 0|4t 116 0|4
5‘5 < 5‘5
P . A AN
&
X B T FREE 24D(24DT) Ete) 7IEOR HYE B X4 YLICt
0lelo| THUS THAl F5 ZHHEE RTISIAIZ HIRfLICH
AMSXLAR| 2, 2 2 AX| Zolof| w2t AX| 742 CiEA M F 4~ JSLICE

082 ASTINF A2




CAM SWITCH

C“US CE [E

]II_|-L'II

4 3 712

I_|_I_

b

3. 25N, KN, KM Etg] EHdl F|5 7+

PN
P

/)

T F 742
2| (mm)
Tl el A B
25N Ered 72.5 0|4 116 0|4
KN,KM E}! 66.8 0|4 116 04t

=
—>
,,,,, N m
[ )
o
EE 1¥

N

36

FEE 712 Aol
=
5oy = A B ©
KSG—22 Q 22.5 2.8%1 10 =02
KSG—25 | #25.5%, 41, 11%°
KSG—30 | #30.5%, B 13.5%?

Vv
Komo,\( 083

1)
A xoix

g 2
£9/|

Mol =z|
£91%]

C

p Hlofg

£9/%|

g 2loje
293

L EE
2913

J B3}




KC—-[ 11— 113210H

7l & W e
K HEFT| FABIAt
C Cam switch
30A 30A 250VAC
20D 20A 125VDC
SHA| IP40
W IP65
6 60x60 Tl
6S 60x60 Ll ( AC|AIOIE EFY)
A 60x83 !
24D 60x80 24VDC M= Z=f mhdl
2 HEA| 2M ST 2H T XpRb
T A B EHARMNE
2 HA| s EHHU5°)
R U= s S5 °)
c HE XS S8 45 °)
cL 20| 2 XS B (45 °)
3M +5 SHB07)
6M +5 5160 °)
M +5 SHE (90 )
2~6 2~6 7THX|2| &=X| T 2RI
1~12 1~12 & 7EX|2| 4 ELEMENT XAt

(R,C.CL ErU2 ZIth 5 SI7HK| 7k )

Tt 81 AT SUSHE HEPAMO| =27}

01~99 E}E—i— HS H5HA o1~99 77}x|0|
UAHSE RXIZ HA|S
E EFE™ | E-Type @ HE
T oY | T-Type } h
shs = —
P HEH | P-Type m ?
R =3t8 | R-Type g} %




CAM SWITCH s CEE » i?m

KC 7] 2 A%

Mol =z|
£91%]

C

KC-CICI 3210

25 7|3 Ll &
. - " aloje
A K ZHEH7| FAIBIAL E ol
NE 72 C Cam switch
aro
30A 30A 250VAC F jolii
B Al 29
20D 20A 125VDC
SxEA | KL KEY LOCKER Al GRo
B SEA| IP40
HS X
W P65 H CERCH
DA 45 27 (45°)
H AQIX| R U= XS B (45 °) I QEIE%
SH E c HE XS 27 (45°) h
A= HA5 °
I A
=y G PR 26 XIS EX| Bt 21
( = 'FJ—’F)
s 12 1~12 o1 7tX|9| S ELEMENT 2t
(88 88+) (R.C EtI2 Z[tH 5 H7IX| 7Hs )
— ransIE U yEnsel SRoideon
deims | 01~%0 | EUE 0100 McluEneERTe
=2 =
HAIGHSH

Vv
Komo,\( 085




H AR
KC 2 AQIZ| Al2|=
KC—30A Z AQ|X| At
A=A MY (Ui) B00VAC, 250VDC
A 58 =R (ith) 35A
M 2 240V, 30A (X} £5tA])
E=Tesbels 100M Q0|4 (DC500V HAXK{SA| )
Li&IQF 2500VAC, 60Hz OflA 1 271
MEX|SH 50m Q O[3+ ( =7Ix|)
LxI= 10~55Hz, 2XIZ 1.5mm 3= (X, Y, Z) & 2+ 1 Azt
sz LT 50G(500 % ) Ol&f, &= 20G(200 % ) 04
B R 2 —40 ~ +70°C
A2 F2| 25 —25 ~ +60°C (ZY0| =X AEHollA )
AEFAEE 45~85%RH
JHE eI 20 8|/ & olst
o PSS! 10 2t3| (250VAC 30A A&} H5tA|)
7| A= 50 2t3]
HSAX IP40( &4 Et : 1P65)
FSESRCT- uL94-Vvo
REHR PAG6 Resin
NS = Ag Alloy
CHX} 2= (Bs) + LIS
Z4 CAM POM Resin
A SEHEHEZE) 5VAC 500mA 0|4}, 22 5VDC 100mA 0|4
F=01= KC : KC 61058—1 / UL: E.191305 / CE

# Enivronmental Type Rating 1 when mounted on a flat surface of an enclosure rated Type 1 Ambient Temperature Rating : 40 °C

KC—30A #Z ¥t | dF

W=2EsEAC

|25t DC

AC—12 AC-15 DC—12 DC-13
xiof g st REHSt xiot SIS REHSt
== (cos @ =0.9) (cos @ =0.3) == L/R(T0.95)=1ms | L/R(T0.95)=300ms
P == 2 == e =2 e =2
110V 35A 3850VA 20A 2200VA 24V 30A 720W 15A 360W
220~240V 30A 7200VA 15A 3600VA | 110V 6A 660W 2.5A 275W
380~440V 15A 6600VA 5.5A 2420VA | 220V 2.5A 550W 1.2A 264W




CAM SWITCH

M CE[E i”u

KC—20D Z ARIX| ALY

74 MA Mt (U) 250VDC M|O|=E|
o2 57 HR (1) 35 e
Y 22 125VDC, 20A ( X{g} £5tAl) o Hol8
HOUR{S 100M Q04 (DC500V & %*ﬁl) =917
LS 2500VAC,60Hz Ol A 1 27
HEX|5 50m Q 0l5t( §7|xl) i ilg—‘lfl
HRI= 10~55Hz, 2XI1Z 1.5mm 3= (X, Y, 2) 2Fsk 2+ 1 A|Zt
T LHT43 50G(500 % ) 014, @S 20G(200 % ) 01} P
Ht =9 2 —40 ~ +70°C
A8 F9l 2= ~25 ~ +60°C (2ol =IxlesS AefollAf ) =
MNEFQAEE 45~85%RH
gl 203/ & ols} H EHxECH
o 7| 10 23] (125VDC 20A X3t 2351A|)
e 50 1] e
HEAx IP 40( &< Ete! : IPBS)
yye= UL94-VO ) 257t
=] PAG6 Resin
IES| FShs| Ag Alloy
cHx} 25 (Bs) + LIAZF
ZH POM Resin

5VAC 500mA 0[4, &2 5VDC 100mA 0|4

1n
0

=|
=

KC : KC 61058—1 / UL: E.191305 / CE

# Environmental Type Rating 1 when mounted on a flat surface of an enclosure rated Type 1 Ambient Temperature Rating : 40 °C

KC—20D ¥4 dt A HF

=85t pC

DC-12 DC-13
ot HMEESAl L/R(T0.95)=1ms QERGA| L/R(T0.95)=300ms
Mg g2 Mg %
110vDC 22A 2420W 4A 440W
125VDC 20A 2500W 3.5A 437.5W
220VDC 10A 2200W 2A 440W

Vv
K0|No,\< 087




A 22X

QSx|T=

KC—30A—6/ KC—20D—6

KC—30A-6CL / KC—20D—6CL

vu

T

60

30

110.3

KC—30A—A / KC—20D-A

60
)

—
(r

83

34.5
128.8

Max. 6t

M4x8 Terminal Screw

=3

3

m X E|= Aol M2 L of 20| AlLtA L=5+(nx15.5), n

o [ A
2 2EsE= A

Max. 6t

M4x8 Terminal Screw

48

f_

24.5 L 6.8

m ZEEl= S50l T2 L o Zo| AlMA L=5+nx15.5), n 2 ZEl=l= A4




CAM SWITCH s CE[E 20

=1 = ZH

KC_30A_ACL/KC_20D_ACL Max. 6t Hl 0 | i El
¢ Mojz
60 6 A9I%|
G N I v .
M4xB Terminal Screw ﬂWg
e 5 A9[%|
K Qi
(7] E gl l - wﬁﬁﬂ* . e
= LIS [ o —TP;‘
2 3 J N
E 8 *}’ Jg } i F ofo|a 2
N Y, L] f ‘ A9[%|
45.8 L 6.8
gt
G 2%

m TS G40 T2 L 20| HAHK] L=5Hx155), n & EEEl= o4 H EERtCH
KC—30A—24D / 30AW—-24D(T & == ) | 28
KC—20A-24D / 20AW-24D(T & &) Sl

Max. 49 Max. 6t
6 44 3-9.3 | M3 Terminal Screw J Bzt

M4x8 Terminal Screw|

F@ & @W
SRR

\

80.3

48

6.8

KC—30AKL / KC—20DKL
e N

el

—
U =
any o |
e 5 -— =
N B
J_’\
N /) il
76 | 44 4] 41
m Z2EE S50l ME L Z0| AAA] L=5+(nx15.5), n 2 ZEElE ¢

Vv
K0|No,\< 089




QAR|+E=

3
&
m (12 M
g ml |
i Er | e
|l =Bkl
; nl < (o],
F , sl
4 4
I ]
o Dgﬁ?
=
o 09
S e
~ < Il
ﬁT “ 3 \
8 —
I
pKu e

0| AAHAL | =5+(nx15.5), n

|
=

Aol E L

[
=

6.8

3 97
@ i I
T E
o | T R
e T

: nl < Ln| 3

e , ,

, ,

[

1 [ J

-

O

T

2 |

@) 01T

ik L |

Q

~

-

& T ‘

T

=

S

o_o f

m 0g

0| AAHAL [ =5+(nx15.5), n

)
=

Aol T2 L

o
m REE=

m 87 M
e m——
T
e e )
; nl & (],
! |
<
W mm, 9'82T
% e
Q
~ 2 _
1 \J
3
m Ve

A
ET

i

=

Of AAMA L =5+(nx15.5), n 2 =&

Z1
=

ZYEE o0 TE L




CAM SWITCH

C“US C€ E

QHR|E=

KC—30AW—ACL/KC—20DW-ACL

S

)

34.5

83

—=<n ]

128.8

I

Max. 6t

M4x8 Terminal Serew

1=
48

M3 Terminal Screw

m ZEEj= A0 W2 L 20| AL L=5+(nx15.5), n 2 = &= ¢
KC—30A—24DCL / 30AW—24DCL o ot -
KC—20D—24DCL / 20DW—24DCL e
p mAN
(& &) AN
PIT(B ]
e\ _\ h ﬂ-f‘!’@ﬁ o
T~ 1 (‘ I =
3 ol
i | IESES—
48 L 6.8

n
Bt
o
0
rr

KC—30KLW / KC—20KLW

AN

S

Wi

NS

76

76

n
Pt
i
"
i

A0l 2 L ZO| AlMA L=5+(nx15.5), n & ZEE= A

M4x8 Terminal Screw

fa

U]

]

44

U =5

4 42

A

L 6.8

Siz0f 2 L Z0| AAMA] L=5+(nx15.5), n &

— A
e

Vv
K0|No,\< 091

i3
A n2lx|

g 2
£9/|

Mo|zE|
€ 29x|

rlofg
£9/%|

2loje
293

E

opo|2=2

2913

sl

-

H 7t




2
i
o
o

43

(29.9)

m
o

ra

uin
51

43

T

947.6 17

7N

00000

918

\
/

-
.

2

I

\

\

D

AN

H

43

2185

/ \\
e
) AN

R HE \W ‘ /
\| :_\‘/“ %6
HSE 7KE x4

o 44.5 =
N
Qf,
W
g
[}

¢ <

KC—30A(20D)—24D(Slot hole) (EiH 1)

Panal Cutting size

4-04.5

AV
N
AV

48
Fan

KC—30A(20D)KL
Panal Cutting size

P HE 57
23 41
o
ES
o 17.5 175
%\
‘S &
%% 5 N

&
o 0

KC—30A(20D)—24D(Hole) (&t 2)
Panal Cutting size

60.5

4-94.5
) o
U U
[-=]
Al
o o
AV AV
48

KC—30A(20D)
Panal Cutting size




CAM SWITCH

C“US C€ E

)
£9/%|

A

ZHA F2 2HA
1. P&l HE M A| Tl X2 7174 (6,6S,A,24D,24DT)

180 01

180 02

g 2
AQI%]

Mol =z|
£91%]

C

rlofg
£9/%|

2|0/ E
293

m

I EE

2913

sl

H 7t

x o EAIZHE2 P Y siE0| M3
SHS Th 2 ALERL MX| 21, QUELICE,
2LEYE (YY) TE (MY ) siE MEA| Eidl FE7HA
B
<
72| (mm)
o el A B
6(6S) Et 80 0|4 140 0| A
24D(24DT) EF 93.5 0]4f 140 0|4
KL Et 96 O]t 140 O|Af
A EF 103 O] At 140 0| A
x of Tl JBECE= AEIY 7|&E02 AME HE X[ Lct.
0l2le| THle mhdl X2 7k S AtISIA|Z! HIZILICEH,
AR HX| 8, =2 2 AX| Zo[off w2t MX| 7HA2 CEA| M 2 o USLC

Vv
Komo,\( 093




GD RS TN pr 7 8 5%
al h07 | 8 ® “_i L 5 : 6 °
j_‘. (—og 3 PR gﬂ r—o? l +—go—¢
1 [
ﬁ1 L4 \ z e OFF RN SN TN
= OFF RS ST TR T
£ E
3|2 HS: v2-C4210 3|2 HS: V3—C4211
RSTH o og’f - ‘fé
| i3 o 19 L'“‘%“*
4 17 18
o 15 16
JE o 7>t
—o2 PR 0
B "
5 6
OFf — Gl <+ ON ot ;
L o1

|2 HS: C.S—C3102AR

ol

m\”

CT

OFF RS ST RT RN SN TN

|2 HS: 7601

ol

094 287

ZFABAL




CAM SWITCH A Xdix

Si= 2

M O|=E|
S

C

RS T

H|o1&

£91%]

2|0|E
293

E

CT

F OfojaE

2913

G uH

29J%]

H EkxtC

Sl==
[ =—=

HFA
==

-

H 7t

T
W 7 8 v E?i
U 5 ¢ 6 |
3 4
L o’ o-o——

FOR OFF REV FOR OFF REV

3|2 HS: 3242 3|2 HS!: 3331

FOR OFF REV

3|2 HS: 3332

Vv
KOINO,\< 095




:15 ‘ 16
o3 : 14
L oM 120,
° o 10
3 P 407
<’{)1 ’ 207
. 8P OFF 4P ° o
R T
3|2 HS: 3414
:15 ‘ 16
o3 14
X 12
9 10
o
- 3 P 4
<o o2
. OFF 8P 4P P
R T
3|2 HS: 3414

096 ASTIFA2IA

-




CAM SWITCH A Xdix

= 2

c Mol ZE|
ESIN
2101 2102 2103
IR
Dol
3 04 30— 4 3 4
g 2i0E
1 ——02 10— 2 1 2 A9
1 2 1 2 1 2 F I EE]
ESIN
2104 2105 2106 G
ESSIPN
30— 4 3 ——O04 3 4 H SERFCH
10— 2 1 ——02 1 2
TES
I HEA
1 2 1 2 1 2 o
) HSFHHE
2107
3 4 30 04 30 04
1 2 10 02 10 02
1 2 1 2 1 2
2201 2202 2203
70— 8 7 038 7 8
50— 6 5 06 5 6
30— 4 3 04 3 4
10— 2 1 02 1 2
1 2 1 2 1 2
2204 2205 2206
70— 8 7 ——o08 70—1——0 8
50— 6 5 06 507:1:2 6
30— 4 3 04 30— 4
1 2 1 2 1O—T740 2
1 2 1 2 1 2

Vv
Komo,\( 097




2207 2208 2209
70— 8 7 038 70741—08
50— 6 5 06 5:1:406
3 04 30— 4 3 04
1 02 10— 2 1074T—02
1 2 1 2 1 2
2210 2212
70— —- 7O—l7408
50— 50— e 06
30— —a 30— @——+—04
1o—r— 1074T—oz
1 2
70 08 70 08 70 08
50 06 50 06 50 06
30 04 30 04 30 04
10 o2 10 o2 10 02
1 2 3 1 3 1 2 3
2301 2302 2303
1 O—— 12 1 012 11 12
90— 10 9 010 9 10
7 8 7 8 7 8
50— 6 5 06 5 6
30— 4 3 04 3 4
1 2 1 2 1 2
1 2 1 2 1 2
2304 2305 2306
1 o012 11 o—— 12 11 12
9 0 10 90— 10 9 10
7 038 70— 8 7 8
50— 6 5 06 5 6
30— 4 3 o4 3 4
10— 2 1 02 1 2
1 2 1 2 1 2
098 s TIIFA8AL




CAM SWITCH

9 —O 10
7 O—— 8
.

2308

9 O—— 10
7 —0O 8
D G

2309

) ;’:&H b
9 —O 10

7 O——
50— 6
3 ——0 4 30— 4 30— 4
1 ——0 2 10— 2 10— 2
1 2 1 2 1 2
2310 2401 2402
1 o0—| 12 15 16 15 ———0 16
90— 10 13 14 13 L 014
o 1 12 11 —O 12
7 8 9 10 9 ———010
50— 6 7 8 70— 8
30— 4 5 6 50— 6
10— 2 3 4 30— 4
1 2 10— 2
OFF ON
1 2 1 2 1 2
2403 2404 2405
15 16 15 16 15 16
13 ——0 14 13 14 13 14
11 —0O 12 1 12 11 12
90— 10 9 10 90— 10
70— 8 7 8 70— 8
50— 6 5 6 5 6
3 4 3 4 3 ——o04
1 2 1 2 1 ——o02
1 2 1 2 1 2
2406 2407 2408
15 16 15 ?.:i:—o 16 15 16
13 14 13 —O 14 13 O—— 14
1" 12 1 O—— 12 11 O—ro 12
9 10 90— 10 90— 10
70— 8 70— 8 70— 8
50— 6 50— 6 50— 6
30— 4 30— 4 30— 4
1 O—— 2 10— 2 10—y 2
1 2 1 2 1 2
2411
15 O i O 16
13 0 O 14
110 O 12
90 010
70 08
50 06
30 O 4
10 02
1 «<— 2

Vv
K0|No,\< 099

kg
A :;W

g 2
£9/|

Molze|
BN

C

H|o1&

S

2|0|E
293

m

opo|2=2
2913

al

Sl==
[ =—=

HFA
==

-

H 7t




|
H AQX| 3|2 =H
TEMLAE FIR2E 2Ct53H 2che 3EH1E
2501
150 O 16 150 O 16 19 20
130 O 14 130 O 14 " .
110 0 12 110 012 13 14
90 010 90 0 10 171 12
70 08 70 08 9 10
50 0 6 50 06 g 2
30 04 30 04 3 .
10 02 10 02 1 2
1 2 2 2
2502 2503
19 © 20 19 20 19 20
17 © 18 17 18 17 18
15 © 16 15 16 15 16
13 O 14 13 14 13 14
10 12 1 12 1" 12
90 10 9 10 9 10
70 8 7 8 7 8
50 6 5 L 2 6 5 6
30 4 3 ° 4 3 4
10 2 1 L 2 2 1 2
2 2 2
2601 2602
230 24 23 24 23 24
210 22 21 22 21 22
19 © 20 19 20 19 20
17 © 18 17 18 17 18
15 © 16 15 16 15 16
13 0 14 13 14 13 14
1O 12 1 12 1 12
90 10 9 10 9 10
70 8 7 8 7 8
50 6 5 6 5 6
30 4 3 4 3 4
10 2 1 2 1 2
1 2 2 2
3101 3102 3103
30 ‘ 04 3 04 30 04
10 ‘ 02 10 02 1 2
2 3 2 3 1 3
3104 3105 3106
30 04 30 0 4 3 4
10 02 10 02 1 2
2 3 2 3 1 3




CAM SWITCH

3107 3108 3109
30 O 4 30 O 4 30 O 4
1 2 1 2 1 2
e
1 2 3 1 2 1 2 3
30 O 4 30 O 4 30 04
10 02 10 02 10 02
1 2 3 1 2 1 2 3
3201 3202 3203
70 ‘ L 08 70 ‘ o8 70 i 08
50 + 06 5@—% 6 50 06
30 e—O4 30 o4 30 04
10 + O 2 10—% 2 1 ——O02
1 2 3 1 2 1 2 3
3204 3205 3206
70 08 7o—L o8 70 o8
50 O 6 50 O 6 50 O 6
30 O 4 30 O 4 30 O 4
1o—T— 2 1O—T 02 1 —o02
1 2 3 1 2 1 2 3
3207 3208 3209
7:t—os 7o+ 8 70 ‘ 08
5 ————o06 50 06 50 06
30 3@—% 4 30 04
10 10 02

N
N

10—%@2
1 2 3

v/
KOINO)101

i3
A xgix

g 2
AQI%]

Mol =z|
£91%]

C

p Hlofg

£9/%|

2|0 E
293

E

opo|2=2

2913

sl

J B3}




ZH A O '|
o =T K
M AQIR| 3|2 EH
FEMME FI2E 3cko®
3210 3211 3212
7 ——o08 70 08 70 08
50 06 5 06 50 06
30 04 3 04 30 04
1@—#—02 10 T 02 10 02
1 2 3 1 2 3 1 2 3
3213 3214 3215
70 f 08 70 ‘ 08 70 08
50 06 50 + 06 50 ® 06
3 04 30 O 0 4 30 04
1@ 02 1O—T—%—oz 10 % 02
1 2 3 1 2 3 1 2 3
3216 3217 3218
70 L 08 7o—i 08 70 08
50 06 50 @ 06 50 06
3 04 3 —04 30 04
1:} 02 12—? 02 10 02
1 2 3 1 2 3 1 2 3
3219 3220 3221
70 ‘ + 08 70 # 08 70—L 08
50 O 6 52:: O 6 50 L 4 QO 6
30 04 3 04 30 ® 04
10 02 10 T 02 1O—T 02
1 2 3 1 2 3 1 2 3
3222 3223 3224
70 08 7o—i— 8 7o—u——os
50 06 50 06 50 06
30 04 30 04 30 J 04
10 % 02 10 02 1O—T 02
1 2 3 1 2 3 1 2 3
102 HETIF 43N




CAM SWITCH

HALX 32 =EH

FEUME 32 3Ht2&
3225 3226 3227
7 o8 70 o8 7 8
50 o6 50 06 5 6
30 o4 30 o4 3 4
10 + 02 1O—T— 2 1 2
1 2 3 2 3 1 3
3228 3229 3230
70 O 8 70 O 8 70 O 8
50 & 06 50 06 50 06
30 L J O 4 30 O 4 30 O 4
1O—T 02 10 02 10 T—Oz
1 2 3 2 3 1 3
3231 3232 3233
70 O 8 70 O 8 70 O 8
50 & 06 50 06 50 @ 06
30 ® o4 30 o4 30 o4
10—1—> O 2 10 O 2 10—T O 2
1 2 3 2 3 1 3
3234 3235 3236
70 8 7O—L7 8 70 E O 8
50 6 50 O 6 5 ——O6
30 ® o4 30 o4 30 o4
1O—T 02 1 2 1O—T 02
1 2 3 2 3 1 3
3237 3238 3239
7o—£— 8 70 8 70 08
50 O 6 50 6 50 O 6
30 O 4 30 O 4 3 ——O04
10 O 2 10 O 2 1 ——02
1 2 3 2 3 1 3

Vv
K0|No,\< 103

ey
A xgix|

g 2
£9/|

Mol ZE|
£91%]

C

H|o1&

£91%]

2|0|E
293

E

F OfojaE

2913

Sl==
[ =—=

HFA
2=

-

w57}




FEMME 32T 3¢t2= 3E3A
3240 3241 3271R
7 o8 7o+ 8] 7 o8
5 06 50 06 50 06
3 L 04 {3 4] 30 04
1 02 1 2 1 02
1 2 3 FOR STOP REV 1—>2<—3
1 2 3
3272 3301 3302
. ‘ l o8 110 | + 012 110 | o012
90 + 010 QO—F 10
50 06 70 + 08 70 o8
3 04 50 + 06 SO+ 6
10 o2 30 + o4 30 o4
10 + | 02 1o—+— 2
1 2 3 1 2 3 1 2 3
3303 3304 3305
110 | ‘ 012 110 | | 012 112:i 012
90 A 010 9o++o1o 9 010
70— @ 08 70 o8 70 : o8
50 & 06 5 06 50 06
30 04 3 o4 30 04
1@—*—T——oz 10— oo 10 ; 02
1 2 3 1 2 3 1 2 3
3306 3307 3308
11 12 11 012 110 f o012
90 010 9 010 90 010
7 8 7 o8 70 I o8
50 06 50 o6 50 06
30 04 30 4 3 o4
1 2 10 02 12:; 02
1 2 3 1 2 3 1 2 3
3309 3310 3311
11Z:i 012 1o o012 10 o012
9 010 90 010 90 010
70 08 70 08 70 o8
50 06 50— 6 5 o6
30 04 30 o4 3 o4
10 02 1 G 1 02
1 2 3 1 2 3 1 2 3
104 HETINF A3}




CAM SWITCH

HALX 32 =EH

FEYLUE 32 3E3d

3312 3313 3314
1 12 10 | | 012 10 i 012
9 10 go—u——om 90 010
70 o8 70 o8 7 8
oo os | so S oo | o ¢ I e s
30 04 30 o4 30 04
10 ; 02 1@—?—T——oz 10 ; 02

1 2 3 1 2 3 1 2 3

3315 3316 3317
110 | 012 | 012 10 012
QO—F 10 10 90 010
70

O 8

N Ao
-~ w o~ o=
IS

O 8

7 8
5 06 5 6
3 3 O 4
1 | 02 1 02
1 2 3 1 2 3 1 2 3
3318 3319 3320
112:i 012 96 | o 10 1 12
9 010 7 s 9 10
70 o8 5 . 70 o8
50 06 o o4 5 o6
30 04 o . 3 04
10 O 2 10 f O 2
1 2 3 |
1 2 3 1. 2 3
3321 3322 3323
1o 012 0 10 11 o2
90 O 10 7 8 90 O 10
70 o8 5 6 70 e 038
50 O 6 30 04 50 O 6
3 4 o oo 3 04
10— | 02 \ 1 2
1 2 3 1T 2 3 1 2 3
3324 3325 3326
10 012 o] 012 11 012
90 010 9 10 9 010
70 08 7 8 7 ——O038
50 O 6 50 O 6 5 ——O6
3 4 30 04 3 L o4
1 2 1@—#——02 1 E—C
1 2 3 1 2 3 1 2 3

Vv
KOINO,\< 105

)
A 23l

g 2
£9/|

Mol ZE|
£91%]

C

H|o1&

£91%]

20|
~9/|

m

opo|2=2
2913

al

Sl==
[ =—=

HFA
2=

-

H 7t




FEMME 32T 3033 3H 43
3327 3328 | 3329
10 012 112i 12
Ho— | 12
ol e 10 9 10
90 © 7 8 70 8
7o L 08 5 O 6 50 6
5 6 3 O 4 3 04]
30 $ ¢ 1i—?— 2 12:; 02
10 o o2
1 2 3 FOR STOP REV FOR STOP REV
1 2 3 1 2 3
3330 3331 3332
11 12 12
90 010 10
7 8 08
50 O 6 O 6
3 4 4
1 2 02
1 2 3 3
3401
\ R
150 o016 | 15 16 150 016
10 + 012 10 012 10 o o112
90 + 010 9O—H 10 90 ® 010
70 + O 8 70 O 8 70—@ O 8
50 + 06 5 6 50 & 06
30 + 04 3 4 30 04
10 + o2 1 2 1o—?+—oz
1 2 3 1 2 3 1 2 3
3404 3405 3406
15H— 16 1501 016 1501 016
130 014 130—H 14 13 14
11o—+— 12 10 012 10 012
90 010 9 10 go—+— 10
70—‘7 8 7 8 70 O 8
50 O 6 5 O 6 5 6
30 04 3 04 30 o4
10 Q2 1 O 2 1O—+7 2
1 2 3 1 2 3 1 2 3
3407 3408 3409
150 016 1501 016 150 016
130 o014 | 13 14 130 O 14
10 012 10 012 10 012
90 010 90— 10 90 010
7 o8 7 L o8 70 08
5 QO 6 50 O 6 50 O 6
3 O 4 30 O 4 30 O 4
1 02 1 2 10 02
1 2 3 1 2 3 1 2 3
106 #SHIITABIAL




e
CAM SWITCH A Aaix
=] = FH
HAQR| 2 =H B iow
=7
FEMME 2 3Ct4 3Et53 4TH1 3
O
o
3410 3411 3412 251X
50— 16 | 15 16 | 150 & [ o1 -
130 o014 | 13 |0 14 | 130 o 14 o
10 o12 | 1 le 12 | 1o 12 271K
9 010 9 10 90 ® 010
7 O 8 7 8 70 O 8 E Z|0|E
5 6 5/le 06 50 6 PN-PY
3 4 3 4 30 o o4
1 2 1 0 2 10 02
| \ F OfojaE
1 2 3 8P OFF 4P OFF 8P 4P A9/
3501 ‘ 302 o
19O O 20 190 O 20 A0k
150 © 16 170 18 70— @ 018 =9
130 o 14 150 16 150 016
1o 012 130 14 130 0 14
90 010 10 012 1 12 H SEXHCH
50 06 70 08 7 8
30 O 4 5 06 50 6 I ZEE
16 o2 3 04 30 04 TN
1 02 10 ;—02
T2 3 1 2 3 1 2 3
)] E357H}
3503 3504 | 3505
190 20 190 020 190 Hzo
170 18 170 o o8 170 018
150 16 150 ® 016 150 o o5
13 14 30— 014 130 014
1 12 10 o012 10 012
9 10 90 ® 010 90— 010
7 o8 70—@ 08 70 o8
5 06 50 ® 06 50— @ 06
3 04 30 04 30 o4
10——e 02 10—9%402 10 : 02
1 2 3 1 2 3 1 2 3
3506 3601
190 t 020 190 020 20 ® 02
e o | o T =
170 O18
13 14 130 O 14 150 016
1 12 10 012 30— O14
9 10 90 010 10 o12
7 8 70 08 90 010
5 6 50 06 7 D S
50 06
3 4 30 04 30 \ o4
1 2 10 O 2 1H 02
1 2 3 1 2 3 1 2 3
4101 4102
30— 4 30— 4 30 04
10 ’ ‘ 02 10 2 10 02
1 2 3 4 1 2 3 4 1 2 3 4

Vv
K0|No,\< 107




FEMME 32 4cho ™
4201 4202 4203
70 i:ZS 70 L—OS 70 tzfi
50 6 50 @ 06 50 6
30 O 4 30 L O 4 3 O 4
10 ? O 2 10—Y O 2 12:; O 2
1 2 3 4 1 2 3 4 1 2 3 4
4204 4205 4206
7 —O038 70 u 08 70 L 08
50 6 50 I::G 50 @ 06
30—@—— 4 30 4 30 4
10 02 10 ? 02 1%#2
1 2 3 4 1. 2 3 4 1 2 3 4
4207 4208 4209
70 HS 70 A ‘ 08 70—A ‘—OS
50 O 6 50 6 50 O 6
30 O 4 30 q O 4 3 O 4
10—$ O 2 10— 2 10 H—OZ
1 2 3 4 1 2 3 4 1 2 3 4
4210 4211 4212
70 + 08 70 8 7 ‘—08
50—@ 06 50 6 5 06
30 + 04 3 04 30 o4
10 | ?—02 1%—#@2 10 2
1 2 3 4 1 2 3 4 1 2 3 4
4213 4214 4215
70 0 8 70 f 08 70 ‘ LOB
50 O 6 50 O 6 50 O 6
30 O 4 30 O 4 30 O 4
10 ; O 2 10 ¥ O 2 10 2
1 2 3 4 1 2 3 4 1 2 3 4




a2l
CAM SWITCH A Aoix
= 2
FEMUE 32 4cho®
¢ Mojze]
AQO 7{
4216 41217 4218 =%1A
| | o Hol8
70 o8 70 o8 70 08 AQ|X|
5 —O6 50 6 50 6
2loje
3 O 4 30 4 30 4 E ~ol%|
1 O 2 10— 2 10 f 2
1 2 3 4 1 2 3 4 1 2 3 4 L EE
PN
4219 4220 4221 2
290%]
70 8 70 8 70 8
50 6 50— 6 50 6 H EEXHCH
30 4 30— 4 30 @ O 4
DEE
10 2 10— 2 1 O—r O 2 I tZrZE
1 2 3 4 1 2 3 4 1 2 3 4
) E37Hb
4222 4223 4224
70 L O 8 70—L O 8 70 8
50 L O 6 50 L O 6 50— 6
30—@ ;:24 30 O 4 30 4
10 2 10O ?—O 2 10— 2
1 2 3 4 1 2 3 4 1 2 3 4
4225 4226 4227
70 8 70 ‘—08 7%%—@8
50 6 50 L J O 6 50 O 6
30— 4 30 O 4 30 ﬁ:’;4
1 2 10—f Q2 10 2
1 2 3 4 1 2 3 4 1 2 3 4
4228 4229 4230
70 ‘ 08 70 ‘ ‘ 08 70 i 0O 8
50 O 6 50 6 50 6
30 O 4 30 L 4 30 4
10— 2 10 2 1 O—? 2
1 2 3 4 1 2 3 4 1 2 3 4

Vv
KOINO,\< 109




FEMAE S|I2E 4Th2 &
4231 4232 4233
70 08 7 70 ‘—08
50 6 | 5 50 ﬁ 06
30 s o4 | 3 30 o4
10 ?—02 1 10—$ O 2
1 2 3 4 1 2 3 4
4234 4235 4236
70 +—@8 70 O 8 70 L 08
50— 06 | 50 6 | 50 e 06
30 ® +—@4 30 s o4 | 30 s o4
10 f ‘ 02 10 ? O 2 10 ? O 2
1 2 3 4 1 2 3 4 1 2 3 4
4237 4238 4239
70 8 70 A 8 70—# O 8
50 6 50 6 50 L O 6
3ii:r O 4 30 O 4 30 HZ4
1 O 2 10—$ O 2 10O 2
1. 2 3 4 1 2 3 4 1. 2 3 4
4240 4241 4242
7o—£ o8 70—‘ | o6 70—4 o8
50 r—os 50 s +—oe 50 6
30 O 4 30 L J O 4 30 4
10 ?—02 10 +—©2 10 2
1 2 3 4 1 2 3 4 1 2 3 4
4243 4244 4245
1 2 3 4
70 08 70 08
70 8 52:= 06 50 6
50 6| 3 o4 | 30 4
30 4
10 2 1 02
1o-9 02 —
1 2 3 4 1 2 3 4
110 #SHIITABIAL




CAM SWITCH

FEMME 2 Ctoa 4EH3 3
4246 4247 4248
70—& os8 | 70 H 08 70 L 08
50 1:26 50 6 | 50 o 06
30— qum 4 30 H:Zzt 30 4
1%#%2 10 > 02 1%#22
1 2 3 4 1 2 3 4 1 2 3 4
4249 4250 4301
oo
10 12
60 ‘—os 7o—¢ o8 90 ‘ o 10
50 o7 50 ®—O6 70 O 8
20 O 4 30 O 04 50 06
30 04
10 3 | 10 T 02 o o T o
1 2 3 4 1. 2 3 4 1 2 3 a4
4302 4303 4304
10 tgm 1 12 | 110 12
90 10 | 90 o010 | 90 10
70 : o8 | 7 e o3 70 8
50 O 6 50 QO 6 50 O 6
30 ; O 4 3 —04 30— 4
10 O 2 10 2 10 O 2
\ \ \ \ \
1 2 3 4 1 2 3 4 1 2 3 4
4305 4306 4307
10 & o012 | 110 ° 012 | 110 i 012
90 ! 010 | 90 10 | 90 010
70 O 8 70 * Q8 70 O 8
50 06 | 50 o o6 50 : 06
30 04 | 30 04 30 4
10— CH———C2 | 10 02 10 ;:22
1 2 3 4 1. 2 3 4 1 2 3 4
4308 4309 4310
10 o | 612 | 110 12 | 11 gj 012
90 H:gm 90 10 | 9 010
70 8 | 70— 8 70 08
50 ! o6 | 50 06 50 6
30 o o4 | 30 04 30 #:24
1 02 | 10 2 10 02
N * 1
1 2 3 4 1. 2 3 4 1 2 3 4

Vv
KOINO,\< 111

kg
A :;W

g 2
£9/|

Mol ZE|
£91%]

C

xlofg
£9/%|

2|0|E
293

m

VEE
£9/|

al

Sl==
[ =—=

HFA
==

-

H 7t




FEMME 32T 4TH38 ACH4 ™A
4311 4312 4313
1o 12 | 1o 12 | 1o +—©12
90 10 | 90 10| 90 510
70 Q8 70 8 70 +—OB
50 6 50 6 50 H O 6
30 ? O 4 32:; O 4 30 4
1 02 | 1 02 1%%2
\

1. 2 3 4 1 4 1 2 3 4
4314 4315 4316
1o & o012 | 110 612 | 110 Py L o1
90 O 10 90O i:((;‘m 90 +—O10
70 O 8 70 8 7 O 8
50 06 | 50 o6 | 5 —u—oe
30 ; 04 32:; 04 3 04
1 Q2 1 O 2 10 O 2
N A — ¢

1. 2 3 4 1 4 1 2 3 4
4317 4318 4319
110—$ tgm 1 12 110 O 12
90 10| 9 o010 | 90 010
70 o8 | 7 o8 | 70 o8
50 QO 6 50 6 50 O 6
30 04
1 O 2

\

1. 2 3 4
4320
1o 12
90 10
70 8
50 6
3 04
10 02

—®

1. 2 3 4
4401 4402 4403
150 | o 016 | 150 & o6 15%—%16
130 ‘ O 14 130 O 14 130 14
1O @®—0O 12 1O O 12 11O ‘ O 12
90 o010 | 9 o010 | 90 010
70 L 08 70 ® 038 7 O 8
50 @ —O6 50 O 6 5 6
10 , ‘ Q2 1H O 2 10‘ ‘ O 2

1. 2 3 4 1 4 1 2 3 4
112 ASTIITABIAL




CAM SWITCH

H AQX| 22 &=
FEMME 2 ATHAH ATH5R ATt6 R
4404 4405 4406
15%—%16 15 16 | 150 L o16
130 14 | 130 14 | 130 i:gm
110 + 012 110—H— 12 | 110 12
90 o010 | 90 010 | 90 ® 010
70 H o8 7%‘7%8 70 ° 08
50 6 50 06 50 06
30 4 30— 4 30 o 04
10 ® ‘ 02 1 ‘ 02 10 ® 02
1 2 3 4 1 3 4 1 2 3 4
4407 4408 4409
150 ® i:gm 150 16 | 150 L o516
130 14 | 130 14 | 130 14
110 o012 | 1o 12 | 110 12
90 ; 010 | 90 + 010 | 90 o 010
70 8 70 8 70 8
50 6 50 + 06 50 + 06
30 o 04 30 04 30 04
10 i + 02 10— 2 10— 2
1 2 3 4 1 3 4 1 2 3 4
4410 4411 4412
150 | @ 016 | 150 t:gm 150*4#—016
130 ‘ 014 | 130 14 | 130 014
110 012 | 1o o012 | 110 + 012
90—@ 010 | 90 010 | 90 10
70 08 70 08 70 ‘ 08
50 06 50 06 50 6
30 4 38:: 04 30 4
109 02 1 02 10— 02
1 2 3 4 1 3 4 1 2 3 4
4501 4502
190 020 190 020 190 020
170 18 170 018 170 018
150 ® 016 150 16 150 016
130 ® 014 130 14 130 014
10 o O12 10— 12 10 012
90 ® 010 90— 10 90 010
70 ® o8 70 o8 70 o8
50 06 5 06 50 06
30 ° 04 3 04 30 04
10 o 02 1 —e—02 10 02
1 2 3 4 1 3 4 1 2 3 4
4601 4602 4603
230 024 230 024 210
210 022 210 022 190
19O O 20 190 O 20 170
170 018 170 018 50
15 O O 16 150 O 16
130 014 130 o 14 130
110 012 110 012 10—
90 0 10 90 010 90—
70 08 70 08 70
50 06 50 O 6 5
30 04 30 04 3
10 02 10 O 2 10
1. 2 3 4 3 4 1

Vv
KOINO,\< 113

>

(o~

C

E

al

-

1)
NN

ZH
(=}

£9/|

Mol ZE|
£91%]

H|o1&

£91%]

20|
~9/|

I EE

£9/|

Sl==

=
HFA
2=

H 7t




FEUME 32 5ct2®
5201 (30° CAM) 5202 (30° CAM) 5203 (30° CAM)
70 L—os 70 L—os 70 08
50 @ 06 | 50 @ O 6 50 4 06
30 04 | 30 04 | 30 04
10 T 02 1@—* 02 10—? 02
1 2 3 4 5 1 2 3 4 5 1 2 3 5
5204 (45° CAM) 5205 (45° CAM) 5206 (30° CAM)
70 A 08 | 70 A o8 | 7 08
50 06 | 50 06 | 5 6
30 04 | 30 04 | 30 I:Z4
10 02 | 10 O 2 10 O 2
1 2 3 4 5 1 2 3 4 5 1 2 3 5
5207 (45° CAM) 5208 (45° CAM) 5209 (45° CAM)
70 H 08 | 70 L 08 | 7 8
50 ® 06 | 50 06 | 5 6
30 04 | 30 04 | 30 04
1o—r 02|10 02 |10 02
1 2 3 4 5 1 2 3 4 5 1 2 3 5
5210 (45° CAM) 5211 (45° CAM) 5212 (30° CAM)
70—H 08 | 70 L i 08 | 7 08
50 @l 06 | 50 O 6 5 6
30— 04 | 30 O 4 30 4
10 ?—02 10 r—oz 10 02
1 2 3 4 5 1 2 3 4 5 1 2 3 5
5213 (30° CAM)
7@H 08 | 70 08 | 70 08
50 ® 06 | 50 06 | 50 06
30 4 | 30 04 | 30 04
10—? 4:22 10 02 10 02
1 2 3 4 5 1 2 3 4 5 1 2 3 5




CAM SWITCH

C“US CE IE

A AR 2|2 =H

TRMNE 32 5EH3, 54
5301 (30° CAM) 5302 (30° CAM) 5303 (45° CAM)
10O ‘ 012 | 110 + ‘ 012 | 10 ‘ ‘—012
90 ‘—010 90 ‘—010 9 010
70 ® 08 70 ‘ 08 70 ® 08
50 06 50—? 06 50 @ 06
30 ? O 4 30 f O 4 30 O 4
10—? ‘ O 2 10—+ ‘ O 2 10 ? O 2
1 2 3 4 5 1 2 3 4 5 1. 2 3 4 5
5304 (30° CAM) 5305 (45° CAM) 5306 (45° CAM)
10 ‘ ‘ 012|110 i 012|110 t 012
90 010| 90 O010| 90 O 10
70 08 | 70 : 08 | 70 : 08
50 06 | 50 O 6 50 06
30 4 | 30 O 4 30 O 4
10 ;:22 10 ; O 2 10 ; O 2
1 2 3 4 5 1.2 3 4 5 1 2 3 4 5
5307 (45° CAM) 5308 (45° CAM) 5309 (45° CAM)
110 | 0 12|11 ‘ | 012 |11 ‘ ‘—012
90 ‘ 010 90 H—om 9 + 0 10
70 L 08 | 7 O 8 7 ® O 8
50 L 06 | 5 —*—06 50 ‘ 06
30 4 13 04 | 3 O 4
10—f ‘ 02 |1 2 |1 ‘ O 2
1 2 3 4 5 1. 2 3 4 5 1 2 3 4 5
"o 012|110 012|110 012
90 010] 90O 010| 90 010
70 08 | 70 08 | 70 O 8
50 06 | 50 06 | 50 O 6
30 04 | 30 O 4 30 O 4
10 02 |10 O 2 10 O 2
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
5401 (45° CAM) 5402 (45° CAV) 5403 (30° CAM)
150 ‘ 016|150 + ‘ 016|150 i O 16
130 ‘ 0141130 + 014|130 0O 14
"o 012|110 m 012|110 012
90 010 90 010| 90 : 0 10
70 08 | 70 O 8 70 0 8
50 @ 06 | 50 6 | 50 06
30 4|30 04 | 30 4
1H ‘ 02 | 10 +—OZ 10 ;:82
1.2 3 4 5 1. 2 3 4 5 1 2 3 4 5

Vv
K0|No,\< 115

i)
A 2313

g 2
£9/|

Mo|ZE|
€ 290%

Hoig
£91%]

2loje
293

E

F ofo|a 2
£9/|

-

H 7t




FEMNZ B2e 5EH4, 5EH5
5404 (45° CAM) 5405 (45° CAM) 5406 (30° CAM)
150 O 16 150 O 16 150 0 16
130 O 14 130 O 14 130 O 14
10 012 10O % 012 10 0 12
90 h—om 90 O 10 90 0 10
70 O 8 70 08 70 08
50 #—06 50 06 50 06
30 O 4 30 O 4 30 O 4
107#—02 10 02 10 0O 2
1.2 3 4 5 1 2 3 4 5 1 2 3 4 5
5407 (30° CAM) 5408 (30° CAM)
150 H—om 150 O 16 150 0 16
130 O 14 130 O 14 130 O 14
1Mo 012 1Mo 012 1O 012
90 O 10 90 010 90 010
70 O 8 70 08 70 0O 8
50 O 6 50 06 50 06
30 04 30 04 30 04
10 O 2 10 O 2 10 O 2
1. 2 3 4 5 1. 2 3 4 5 17 2 3 4 5
150 O 16 150 O 16 150 0 16
130 O 14 130 O 14 130 O 14
1Mo 012 1O 012 10O 012
90 O 10 90 0 10 90 010
70 O 8 70 08 70 08
50 O 6 50 O 6 50 O 6
30 O 4 30 O 4 30 O 4
10 O 2 10 O 2 10 O 2
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
5501 (45° CAM) 5502 (45° CAM) 5503 (45° CAM)
190 O 20 190 0O 20 190 O 20
17O 0 18 170 0 18 170 O 18
150 O 16 150 O 16 150 O 16
130 O 14 130 O 14 130 O 14
10 012 10 @ 012 "o 012
90 010 90 @ 0 10 90 O 10
70 O 8 70 08 70 08
50 O 6 50 06 50 O 6
30 O 4 30 O 4 30 O 4
10 O 2 10 02 10 02
1 2 3 4 5 1. 2 3 4 5 1 2 3 4 5
5504 (30° CAM) 5505 (30° CAM) 5506 (30° CAM)
190 O 20 190 O 20 190 O 20
17O O 18 17O 0 18 170 ®—O 18
150 O 16 150 @ O 16 150 9—O 16
130 O 14 130 @ O 14 130 O 14
1O 012 10 0 12 Mo 012
90 0 10 90 0 10 90 0 10
70 08 70 08 70 08
50 O 6 50 06 50 O 6
30 O 4 30 O 4 30 H O 4
10 *—02 10 O 2 1074#—02
1 2 3 4 5 1. 2 3 4 5 1 2 3 4 5




CAM SWITCH

HALX| ZI2 =H

FEMME 32 5cted, 6CH33 6CH43 , 8EH3
5601 (45° CAM) 5602 (30° CAM)
230 O 24 230 24 230 O 24
210 022 210 22 210 0 22
190 0 20 190 20 196G 020
170 018 170 18 176G 0 18
150 0 16 150 16 150 O 16
130 O 14 13 O 14 13C O 14
10 0 12 11 012 116G 0 12
90 0 10 9 010 90 0 10
70 08 7 08 70 08
50 06 5 06 50 06
30 04 3 —O04 30 04
10 02 1 —02 10 02
1 2 3 4 5 1 2 3 4 5 1 2 3 4 5
6301 (30° CAM) 6302 (30° CAM)
10 | H 0 12 110 | H12 10 0 12
9 010 90 ; 010 90 010
7 ® 08 70 08 70 08
50— 06 50 ® 06 50 06
30 4 30 f 04 30 04
10 2 1 02 10 02
# M o
1 2 3 4 5 6 1 2 3 4 5 6 1 2 3 4 5 6
6401 (45° CAM) 6402 (30° CAM) 6403 (30° CAM)
150 | 016 | 150 ‘ O 16 150—+ 0 16
130 ‘ 014 | 130 O 14 130 O 14
10 0 12 10 012 1 0 12
90 010 90 010 9 010
70 @038 70 ® 08 7 08
50 ® 06 50 06 50 G O 6
30 ? O 4 30 4 3 0 4
10—@ ‘ 02 10 2 1 02
1 2 3 4 5 6 1 2 3 4 5 6 1 2 3 4 5 6
6404 (30° CAM) 6405 (30° CAM)
150 H16 15 O 16 150 0 16
130 014 | 13 O 14 130 O 14
10 L 012 10 GO 12 10 0 12
90 [ ] 010 9 010 90 010
70 08 7 08 70 08
50 ® 06 5 06 50 06
30 04 30 4 30 04
10—@ 02 1 o2 10 02
1.2 3 4 5 6 12 3 4 5 6 12 3 4 5 6
6501 (45° CAM) 6502 (45° CAM) 8301 (30° CAM)
190 020 | 190 # } 020
170 018 17 O 018 1 12
150 0 16 150 H 0 16
130 ® 014 130 ‘ 014 ? 1é)
110 012 10 012
90 010 90 b 0 10 5 6
70 08 70 08 3 4
50 06 50—@ 06 1 2
30 04 30 04
10—® 02 10 02 12 3 45 67 8

1

2 3 4 5 6

Vv
K0|No,\< 117

)
A 23l

g 2
£9/|

Mol ZE|
£91%]

C

H|o1&

£91%]

20|
293

E

_ﬂ[:‘
)
m
fu

Sl==
tﬂi

-

H 7t




FEMAE 3|2 2-h88® 4AHto3 S5CEH73 12CH4H
2801 4901 5701 (30° CAM)

350 036
310 032 330 034
290 030 310 032 270 28
270 028 290 030 250 26
250 026 270 028 230 24
230 024 250 026 210 22
210 022 230 O 24 190 20
190 0 20 210 022 170 18
170 018 190 0 20 15 0 16
150 0 16 170 018 13 o 14
130 O 14 150 016 1 0 12
10 012 130 O 14 9 o 10
90 010 110 012 7 o8
70 08 90— +——+—@—010 5 06
50 06 70 08 30 o4
30 04 50 06 1%—*—%2
10 O 2 30 O 4

10 o2 1 2 3 4 5

1 2
1 2 3 4
5702 (30° CAM)
270 & 028
250 26
230 24
210 22
190 20
170 18
150 O 16
13 o 14
11 ——+—+o012
9 010
7 08
5 o6
30 o4
1%—*—%2
1 2 3 4 5

12401

150
130 ® ® ®

| o
®

o016
+ O 14
012

110
90 L 4 u—om
D

70 O 8
50 06
30 O 4

10 H—OZ

1 2 3 4 5 6 7 8 9 10 11 12




CAM SWITCH A Xdix

2 AQ|R| 32 =H B Xox
23 O O 24 B
21 O O 22 .
19 O O 20 P
17 O O 18 - cjoja=
15 O O 16 e
13 O O 14 o LT
110 O 12 o

90 O 10 H e
7O O 8 .
SO O 6 v
3 O O 4 ) HSFHHE
10 O 2

23 O O 24
21O O 22
19 O O 20
17 O O 18
15 O O 16
13 O O 14
110 O 12
90O O 10
70 O 8
50 O 6
30 O 4
10 O 2

Vv
Komo,\( 119






